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I Vocabulary.
(2) RE—EhEEARTE
Q spring @ ® o
(b) A AERE
Q January @ © O ® QO DO DO B @
(¢) RE—-ER-LHAE
QO Sunday @ (3] 9 ® ® 7]

I HEA)HRg#ES (Antonyms)
B : cold(Adj.) hot (Adj.)

© night (n)eeeereereeeenes ( ) @ above (prep.).cecenn... (
@ little (adv.) ceerereenens ¢ ) @ sick (adj.) coeeereornecn C
e love (verb) ............ ( ) @ thick (il:dj.) CETIPS SRR ¢
[ ] likes (M) covereneeninans ( ) (=) proud (a,dj,) ............ (
O alive (adj.) ceeeeeenenn ( ) @ over (prep.) -coeeecennne C

(B) -RIES (homonyms)

B : sun . __son

(1) gelleeeeaene ( ) @ fair-..... ( ) 3] pale.c.... (
@ lesson ... ( ) & flour ... ( h) ® some -.- (
6 dew sesees 4 ) Q I‘ight v ( ) @ pray--.... (

@ meat......( )
I FHISERRMMTE » XlEErEies o

O Tam .o, © He becomes: eeremee...
They proved «e..eveeenes @ The silk feels....oo..n
He goteeereeieiininin, ® You ]ook ...............
The meft smells ...... Q@ Sugar tagtes-....e.eene
Things do not stay .. @ The street boys go....-
N B8 (RRERE)  20%
It is they.

My little baby has hugt its two tiny feet.
He had better teld the truth,

My name is caled George Wong.

1 am called Anne Ling.

He robbed my wrist watch. (F4%)

I shall go to the place it is cool.

You are going to where 9 (%E/44])

How pretty is it ! (J&#H))

We lived before there. (FFU{CHiMEAENE)
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© Itis + Adjective+Infinitive.
4] : It is easy to write.
(a) (b)

®© How+ Adjective + Subject+ Verb
4] : How strange he is?
() (b)

& Subject+ Verb +Indirect Object+ Dircet Object.
{ii4] : He asked me a difficult question.
(@) ()

€@ Although-t Clause 4 Clause.
4] : Although he is an old man, he can read without glasses.
() ()

& Clause +but+ Clause.
4] : It is an interesting book, but 1 can not read it now.

(2) (b)

HFALB—LFHER
HE B BIXFPERISRE
A SR PRGFHED

22 (—) HRETFHBERIEER » BREEFER Lo
() SRR L BRI EI o
=) BRoRiHge
(1) BHNRIES 100535 o
e B T — A SRR 150 {E > SERMARE > EMEERLT ) AR
e » FERHERE o BINTILRS -
i1 We_______ Chinese.
® am ® is @ are @ be
TREIARR® » DL LA | O ITEmE T —mmt (+)
f5] 2 When you get sick, you take _ - :
(D iobacco (@ medicine (3) meat @ pineapple
IEREERRE® » BUES] 2 BN B Tk (+)
#) 3. Johm________Mary are good students.
@ with ® to @ for @ by
SEIMEARIE — P ERET > IRLLER 3 SRS (O) BE IR S T ek
2 EERIERAA S AR E SR EEE EE IR (BT T o
@ A_______ has two wheels.
® lamp ® Dbicycle @ clock @ book
© He writes witha_____ pen on paper.
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(O chalk @ stick @ ink @ fountain
€ We do not go to school on__

(® Saturday ® Wednesday (3 Friday @ Monday
€ He takes his before he goes to school.

@ breakfast @ lunch ® picnic (@ supper
® Columbus America.

@ invented @ went (@ created @ discoversd
® _ iz the way out.

(D entrance ® sigh @ exit @ exile
© 116 buys meat and fruit in the

(® movies ® market ® school @ post office
@ The opposite of “lend” is .

@® give ® Dbuy ® look @® horrow
o _ ,» people did not live in houses as we do.

@O A few days ago. ® Long, long ago

(3 Again and again @ Now and then
@ The sunisesin____ -

® east @ the east ® south-east: (4 north-east
@ __ s good to eat. .

(» Stonc ® Coal ® Gas @ Cloth
’(E) 1 like to play__ with my friends.

(D water ® watch @ pin @ knife

8

8 6 & 6 5 ©® 6 ®

My country is___ .
@ tihe Yellow River ©)
(® the United States of Ameviea @

the Republic of China
the Thilippine lslands
is one of the most important materials for making clothes.

O Wood Iron ® Cotton
1 drink of tea.

@ apiece ® a kind ® a cup
My brother likes to play with__

® my sister @ & book @ the bowl
We Jike to___ about our school.

@ say @ tell ® speak
Can you see_____ birds on the iree?

O few ® some ® ‘any
On each side of the hcad there s one__
(D ear ® eye @& hand
The ninth month of the yearis ___ .

(® November @ October @ August
My father is always ____of studying.

@ willing ® love ® like

@

® ® ® @ ® ® ©

Machine
a g;‘ain
the pi.n
talk

none

foot
December

interesting
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® © & 6 © & 6 6 6 © ©

® 6 & & & © & 8 e

I git in a__ .

O desk ® tree ® chair @ floor

TFive and seven are .

@ thirty ® wwelve (@ nine @ fourteen

1 have two hands; one is the right hand and the other is the
® lift @ left @) front @ behind

Town i8 going to put his letter into the .

® letter-box (@ toy-box (® ticket~-hox (@ book-case
Four time eleven is .

@D twenty ® fifteen ® forty-five (@ four hundred
We Chinese eat with

chopsticks (& pencils - @ poles @ saucer

I take three a day.

@ dinner @) meals (® rices @ food

1 have my hair cut at the shop.

@® Dbutchers’ @ Dbarber’s (® Dbaker's @ woodcutter’s
____ don’t you go to school on Sunday ?

® What Where ® Why @ How

She newspaper every day.

(O has vead ® reads ® read @ 18 reading
My aunt him English.

(© was teaching ® has been teaching
(3 are teaching @ is teaching

he get up early in the morning ?
® Do @ Has @ Does
The train the station ten minutes ago.
® was leaving (® will be leaving 3 has left

Can you _a picture like this?

® drawing ® to draw ® drew
They in this scool for three ycars.

(D had been ® have been @ has been
Hach of the girls a pen.

® had had @ have has
Tom with Paul__ in the garden.

@ is ® are ® be

The desk is by the carpenter.

@O make @ makes ® making

The old man too much wine.
(D has drink @ have drank (® had drink
He always gets__ the bus at the station.

@ at ® after @ on

® ® ®© ® ® ® ® ® ®©

Don’t

left

drawn
have to be
had

being
made

has drunk

by
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® B © &6 @ © ©®© 8 6 & © B

8 6 @ & & 8 9 =

____first he did not like to eat tomato.

© at ® after ® on

Last night several friends called  us.

© at @ after ® on

Is John the room ?

@ about ® in @ into
The traveler went_ ______ boat.

@ over ® by (3 on

I have not seen her last week.

® from ® till ® since
John took __his hat ag he entered the room.
@® off ® of @ from
He is good mathematics.

@ in ® at ® of

It is impossible him to steal your wateh.
@© for ® to @ of

He is thinking hig parents.

(D between (@ among @ of

My graudfatler is old man.

O a ® an (3 the
Iron is_____ than gold.

@O usefuiler ® useful @ most useful
He has___ baby.

® an one year-old ® oue-year-old

@ a one-year-old
I have ever seen.

() the one-year-old
He is the best man

@ as ® who (@ whose
1 made the boy .

® happy ® happily ® happyly
1 don’t know he will come or not.

(O that ® when (3 whether
John 18  tall as Jack.

® so @ such as

_ you or I am Chinese. ‘

(® Neither ® Any ® Noue
One should love_____ country.

(O his ® her (3) one’s
you and he arc students in this school.
® DBath @ DBoth ® Thes:
These oranges taste .

® sweet ® sweeily (® much sweet

® & & & @

O]
@
@

by
by
for
at
after
on
into
with
in
such

use

that
hapyly
why
same
Each
their
Either

more sweet
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@ 6 & & ® &8 ©& 6 & @ © © B8 ©

This flower is ___beautiful than that.

® very @ much

1 feel the earth .

® to move
very well ?

(@ Can he sings

(® Does he can sing

Mary Chiang

®

more

® to be moved (3 move

® OCan he sing
@ Does Le can sings
to school today.

(O donot go (@ doesnot go (@ not go

He is older than my uncle.

® very more
Where ?

@® you are going
(® are going you

He_ ~ me some bgoks.

@® given @ give
There__ four in the class.
® is @ was

% went

(O upstairs ® downstair
THE 5 FHE IR

@ dear @ deer

T REERY ) FHE T3

@ difikalt ® diffieult
[l ) RHES T3t

@ dilligent ® dillegint
C B R

® Februry ® Fabruary
T8 FHE RS

O sager ® suger
[HL1 FHERREC

(1) peer ® paer
TR ) FHE Ry

() sciense (@ since

TEEE | FHERSN

@® Thersday ® Thusday
T80 ) AR

O patience (® pateince
[ HHETSEC

(D steamboot (@ steamboat
it is cold in__

®

® @ @ ©@ @ @ @ ©

® © @ @ ©

most

® are you going
@ going are you

@
®

most

moved

goos not

much

shall ke given (@ gave

has been
upstair
deal
defficult
dilegint
Febuary
sagar
peir
seience
Thursday
patiense

steemboat

@

@
@
@
@
@
®
@
O]
@
®
@

are
up stairs

daer

 dificult

deligent
Februay
sugar
vair
cience
Thirsday
patiencec

staemboat



is the mother of success.
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(O summer ® spring ® autumn @ winter
& The spring months are March, April and .

® August ® June @ October @ November
® Acowisaveryhig
. @O fox @ fish (@ animal @ Dbeast
@ My pencil is long but his is .

© strong @ strange ® Dblack @ short
® There are_. hours in a day.

® thirty~-six twenty~four @ eleven @ forty-eight
@ The pool is not deep, 1t is

© shallow ® empiy (® vacant @ full
® is a good exercise in summer.

® Climbing ® Smoking ® Sleeping @ Swimming
Q® Wednesday comes after _

® BSunday ® TFriday ® Monday ® Saturday
® A crane is a kind of .

® man ® baby ® Thunter @ Dird
@ A room used for cooking is called .

@ kitchen ® Kkitten ® kitty @ kite
@ The third day of the week is_

® Friday ® Sunday @ Wednesday @ Saturday
@ My father’s mother is my .

® grandfather (@ uncle ® aunt @ grand mother
(93] comes on the 25th of December.

@® New Year's day ® Christmas

@ Mother’s Day Teacher’s Day
@ The ruler is the of the. three.

® long @ longer ® longest @ most long
@ The day on which 1 was born is called my_

@ Saturday @ birthday ® holiday @ Monday
@ ltis_____ to play in the street.

® danger ® dangler @ dangerous dangle
@ The city hospital has many doctors and .

@® teachers ® nurses ® school hoys @ policemen
@ The new dress cost me one hundred

@ doctor ® dollars (® money @ coin
@ My father goes to his everyday.

® country ® Dbeach ® office @ station
@ This box is _than that.

® beauntiful ® pretty @) prettiost @ prettier
@
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® Hard ® Failure ® Work @
His friends gave him _on his birthday.

(1) presenis ® park @ wine @
Each hand__ four fingers and one thumb.

@ have ® had ® having @
The - farmer is a ricld.

® walking ® studying plowing @
Don't tell me those stories.

(© interested (2 tiresome ® Detter ®@
A place where sick people are taken is called a .
® magket @ hospital ® garden ®@
Prevention is better than .

(@ accuse ® cure (3 care @
Many diseases are caused by ____

® germs ® gems 3 guns @
The man who repairs decayed teeth is called __ .
(O nuarse (® principal @) dentist @
When we eat, food goes down into the .

© stomach ® mouta @ lungs @
1_ . study.

® am like ® am like to (@ very like @
Such a thing might _ __ at auy time.

(D happened @ happens ® happen @
We lose the game if we do not practise.

©® will ” ® shall ® have ®
The wind now.

(» blow ® blowing ® has blown @
He was writing a letter when you_ }

(O arrive @ arrives @ arrived @
You ought___ haid.

@ study @ to study @ to studies @
John  as he was crossing the street.

@© felt @ feel ® fall @
He _ visit up many times.

@ had . @ have @ has @
The bridge by the end of this year.

® Diulds @ will buld ® will have built
@ will have been built

1___ _ well last night.

O sleep ® was sleeping (@ am sleeping @
The book was sold _ a good price.

Carelessness
store

has
drawing
less

castle
case
gickness
teacher
nose

Iike
happening
had

is blowing
will arrive
studies
fell

has been

had stept
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® from ® at @ for @ since
@ They go school at eight o'clock.

® during ® to ® from @ off
® We do not study much _ summer.

@® in ® on @ at @ over
® 1 am sorry your mistakes.

@® of ® for ® to @ in
@ Take care your health.

@ of ® for ® to @ in
@ I put my hat.

®» in ® to ® since @ from
® I cannot agree_ ____ your proposal.

@® of ® to ® since @ from
® They laughed me.

@ to ® for @ in @ from
@ He took ‘his coat.

® of ® off @ at @ to
® You should pay attention________ your lessons.

@ in ® into ® to @ out of
@ John is absent from school, because he has_ .

® s cold @ a sick ® aill @ illness
@ is that old gentleman ? :

®» Whom ® Who (® Whose @ Which
® It was a day.

@ rain ® rained (® raining @ rainy
@ All the students are happy.

O much ® more (3 great very
@ It tastes

O well ® much well ® good much good
@ My room is lurger than .

® you ® your ® your's @ yours
® Iam in the dark.

@® fear ® afraid ® fight @ find
@ The clock is out of .

. @ odor ® odour ® order @ odorous
® Do you like to live in Taiwan? Yes, 1

® am ®@ was (3 do @ did
@ Were you_ _yesterday ?

(D busy ® business ® Dusily @ bushy-
@ This desk is than the table.

® heavy heavily ® heavier @ heaviest
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Fill in the blanks : ($BF—4)

DeEEEOCNEBE000000060C0

The bookstore is-s---. the bank and the theater.
He is looking.-«... his pen.

1 want ta find..-... who telephoned to me.
Miss Chang.--.-. English very well.

1 have very.--...work to do today.

" He always comes to clags.-... time.

1 usually come to school-.-:.- bus.

1 will be in Taiwan...... three days.
The lamp is...-.- the desk.

He gave the money...... his son.
His birthday is------June 4 (fourth).
His birthday is...... June.

There: - twelve months in a year.
The givl-.-... was here is my sister.
There...... a big map on the wall.
------ much light enters this room.
There is-+----time like the present.
------ you in class yesterday 7

Do you take sugar..-.--your coffee

12 E xR H

@ 1 visited him in America several years

@ age ® ago ® tomorrow (O next year
D . __were many people present at the meeting.

o It ® There ® Their @ These
@ Mary __ that she was very well yesterday.

© says ® said @ tells @ told
® He me that you were no longer studying English.

@ says ® said @ tells @ told
@ He was here at three o’clock, he ?

@® doesn’t @ didn't @ isn't @ weren't
@® We sLall have our test week.

@® iu next @ next ® on next @ of next
® In s we won the game.

(O short ® shorter (@) shorest @ the short
@ ‘lhat question, no , 18 hard to answer.

@ double ® the doubt ® doubt @ the doult
® me in.

@© Late @ lLet @ let’s @ It's
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O The book-:.-.. I hought is a good one.
Till in the blanks with the correct tense of th verb in the parentheses:

(BHE)

@) They told me that he...... (leave).
(Example : They told me that he had left.)
@ Bhe told me she-..-.. (know) him for many years.
© 1 knew that he...... (tell me a lie.
© They--.-- (live) here for ten years.
® I... (sleep) when you telephoned.
® When we got there, John.-.... (read) the newspaper as msual.
& I....-.(sleep) well last night.
@ We...... (eat) when they arrived. D It (rain) when 1 left.
@ It began to rain while I.....- (wait) for the bus.
M The wind..-... (blow) hard now.
@ T (see) Mr. Pan yesterday.
® I (study) English when I was in middle school.
G I {write) a letter last night.
@ He..... (be) in Hongkong many times.
©® Yes, 1...... (read) it a month ago.
& He..-... (travel) by boat several times.
® He-.... (work) there since last June.
@ My sister-.-... (be) sick last winter.
D L. (write) a letter last night when they came.
@ Mary---... (go) to see the doctor when 1 met her.

Change the followings into negative sentences: (fEHH—/3)

James can gpeak French well.

She goes to school every day.

Make Sentences : (M)

@ desk @ village @ handsoms @ welcome & shake

EETHHERMELFRE

. Give the opposite of: 1025 example: (good-bad)
o early  _ go  failure ____ |
.. safe remember_______different -

@ He likes to study.

(Example : He does not like to study.)
@ Bhe is busy. € John went to Japan.
€ He has some money. & John shut the window.
® This room is large. @ He lives by himself.
& She sings well. ¢ B8lie cut herself.
o
o0
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2, Give the past and participle of: 2025 example; (bring brought brought)
yresent past rast participle present past past participle

give ran
sing drink .
thank catch
sit teach
meet see .
3. Give the plural number of: 1025 example: (party-parties)
boy ________country ___ house fly roof
mouse leaf sheep piano tooth
4. (iive the comparative and superlative: 2025 example: (big-bigger-biggest )
small  _ large
happy fat
hot good e
late o _ many
useless important
5. Correct the errors: 1095 example: I eat many rice. (much)
€ every student knows English. «veoemerreernsninn ¢ )
& She is taller than me. .ceceeermevierriiniiiinns e enrerereneiieneanaen )
€ Iron is an useful metal. «cocevervrrreririioiiiiiie D)
@ We £ond of this BOOk. «rrerrerrresrrrrrereemmnissistimiiii s D)
& She is beautiful than her SIBEEI...ccerereremritererionriiinni, C )
® The letter gives me many pain.....coocooerrcerinmii ')
© Whom i3 your father? -«.cre--eeessrivesreisinniiiei )
@ Animals love iliey’s young ones..:- ooerceeerriiniii, ')
D She see me a8t NIght. «wooorvreerermereneemmrerimaen e ')
@ The two students help one another. covveviviinniiiiiiiiiiiii )
6. Vocabularies: 10925
fireman ____ elevator society wrist, professor
HiER - E 113553 Wi HiE

7. Choose the right words for the blanks: 1024 example: She is sewing
her dress. (sewing, eating, writing)
I like to play . (book, sing, tennis)
The Bible teaches all men to God. (sing, love, see)
is hotter than winter. (spring, Sundey, December)
We much water in summer. (eat, drink, buy)
My father me a new dress. (makes, draws, buys)
We do not go to school on - (January, summer, Sunday)
China is the biggest in the world. (country, land, island)
We English in our school. (thiuk, learn, say)
Columbus America. (made, built, discovered)

©0Q099C2GO
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P The moon _at night. (shines, brights, comes)

8. Change the voices: 102
© He eats an apple. @ The child was seen by the man.
@ I painted the picture. © The window is opened by you.

W

& The cat kills the rat.

Eb T Fh PR B LR R B

Select the proper one among four spellings to each Chinese word.(2025

Ex. Cfil) ® ® ® o)

# fii teacher teecher tenchar teechar veeeee (®)
O ¥ T cheir chear chair ChiAT e eerencne )
¢ 3 & moaning morning moring MONING wevereees )
@ A< Sertaday Saterday Suterday Saturday .-« ¢ )
O -} — ileven eleven elovn elven coveeinnins ¢ )
® M !z student studing studant studont --ovnene )
® Ju B Septenber Septenbor  September Ssptembor .- ()
o oI heer here haer HEAL cervevrrrenn ')
Q 2 K DPlackbord  blackboard Dlackbord blakhoard...... ¢ )
O # A eight eightth aighth eighth ceeereees ¢ )
@ BE= Wedsdny Wensday Wednesday Wedesday...-.- D)
Correct the mistakes in the follows (2072) ik

are

Ex. You i: a hoy.

O 1 have two hand. & Apil comes before March.
@ The sun rise in east. @ She came by foot.

& How many milk do you take a day?

@ 1 have any money in my pocket.

@ He go to the city once a week,

@ This is a old book. @ You and [ am all Chinese.
M Let we see it.

Rearrange the following words to complete a sentence. (2725) Fif

Ex. is, a, this, book. ~  This is a book.
& name, what, your, is ¢ & is, where, book, my?
€ two, see, we, can, doors. @ 1, the, desk, behind, stand.

& are, going, they, America, to, plane, by.
Fill the blanks with the proper words in the follows (2025) IFH

o hat is this ?
@ One__ is truthful can De trusted-
® There many teachers in my school.

@ Why you laugh at me ¢
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Y Translate the following Chinese into English (2025) thigik
D KBLLARAHRS o © REEYECBMEET o
© FRFEERPREBERSE o
O ERLEEE (Kee-lung) FekE LA (Taipei) o

AxEEDP S

I Clange each of the following into guestion form: (1025)

John will come to school tomorrow.

February is the second month of the year.

He has gore out of town.

The boy 1:ft his book at home.

It took taem a long time to finish the work.

I Change each of the following into negative form : (1022)

@ Jobn studies very hard. @ They need a fan in their room.
@ She gave him the booke @ We went to the movies last night.
® [ found my copy-book.

B Change each of the following from the active to passive form : (1023)
@ The hunter killed the tiger. @ The teacker told us the story.
€ He has just finished the report.
€@ They are examining the new students now.

& The boys were looking at the soldiers,

IV Fill in the blanks : (20%)

My sister reached home long before I

of the two girls is your sister ¢

Don’t laugh him.

That is the house____ which I live.

The desk i8 wnade wood.

I wish I a bird, 7] book is this ¢

A cat is_ useful animal.

You no less than he diligent,

Either you or he wrong.

orrect the errors : (202%)

1 afraid of him.

There have many students in the classroom.

1 very glad to see you. © He today not go.

You go to where? 1 am going to hone.

Every man and woman are at work.

You will not be here, do you?

You cun tell him that, don’t you?

Five dollars are not enough.

1 has written a letter last evening.

2OBCBQ

e

Secner0ed

60002 DBBO
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K.

Translate the following into English: (302)

O TULBHARE @ BTN -
© Bl TR - @  AHUSRARIESER L o
®© TRl BRER o

HRIER TS

Give the plural form and the Chinese equivalent of the following words:

(10%)
O dish © church @ baby @ pisno ® child
® knife @ mouse Q@ volecano & sheep @ tooth
Give the past and the past participle of each of the following verbs:

Present Past  Past participle (1025

O take o & stop o
€& put & stay
® study @ lay
@ Dbreak Q eat
¢ forget @ swim

Cross out the wrong word within the parontheses: (102)
¢ There i8 plenty of (room, rooms).

& e sleeps (when, whenever) he can.

€ Some wines are made (of, from) rice.

@ They reached home long before 1 (do, did).
® I do not know what (happy, happiness) is.

@ 'The tiger i8 (more, much) bigger than the cat.
© He is older than (I, me).

© It has rained too (many, much).

@® You (would, should) work harder this year.

@ It is she (who, whom) I like most.

Correct the errors: (152)

@ He is & proudest man I ever saw.

@ Were their mother at their home

@ 1 could not but to laugh.

@ The trick played many timnes.

® I know where is he.

(P You are stand on my feet.

© The son very muchlike his father.

@ He needs not come on Sundays.

@® You may sce him to reading all the time.

@ A few days latter, he did the same thing again.
Fill in the following blanks: (10%)
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@ The two boys are the same size.
© 1 mistake that boy________ my brother.
& Heis need of money.
@ China is our land.
® In my opinion, this is quite__ _ right.
{P There are few places_______ 1 have not gone.
© 1f you feel blue,______ for a walk.
@ He___ ___given up all hope of success.
@ We satisfy________hunger with bread and milk.
@ From this spot you________see the ocean.

F. Change the following sentenccs from the active form to the passive

fornm: and vice versa: (152)

@ The child was bitten by the dog-

& The money has been stolen by a thief.

§® Who wrote this story?

@ Too much eating will hurt our health.

® 1 am reviewing my lessons for the coming examination.

G. Make sentences, each containing one of the following words or phrases:
@ unless @ 1in front of © a man who (1525)
© a8 warm as ® against

H. Translate the following into English: (1525)

O BAEBTIEIEC B HERITRELHTE o
© EFNHNILEETAEF . O WERMICHBGEIEHEHIEDEG o
® WERPKTFIIMRKRK

HRHEKERRBE

I Explain the following phrases and words in Chinese : 202
O byand by @ give up @ a great deal @all the year round
6 agree with (@ correspond to @ make it out @ look up to
¢ goon M of course O freedom © education
€) picnic @ faithful & science @ accompany
® vibration @ music Q@ npleasure - (@ cottage

I Give each of the following verbs its past tense form and participle
form : 2025
Q bring__ @ begin___ ___ ® do _
o put _ ® make ® e __
o talk . @ come__ - @ read_ = _
® g __ ___

K Correct the errors: 20%

O 1 dov’t know whether it is true and uot.
© How much students are here in your school ¢
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He can not writing, but he can read.
1 use a umbrella when it rains.
Who give you the ticket ¥
A man whom work in the field is call a farmer.
You have better give up your plan.
We go to school for feet every day. ® 1 am old than you.
When do you got up every day ?
oose the proper word in the parenthesis : 20%
He should like (to go, go)
We are huating (to, for) the lion.
He may be (hids, hiding) in the cave.
We have (fight, fought) many battles.
He did not (looked, look) in,
Dou’t hide (from, at) us. © He looks (happily, happy)
He is {ready, readily). @ Wait (moment, a moment).
1 am very (glad, gladly) to see you.
wswer the following questions : 2035
How old are you and where do you live ?
Why do you come to our school 7
Do you like to study English? If so, why ?
Which subject do you like best 7
How long have you been living in Taiwan ?

HXEWHPR
Transcribe the following sentences into phonetic Sywmbols : 1025
In winter the weather is told. In the North it snows. When the
snow falls, everything looks white and beautiful.

Give English equivalents to the following Chinese: 1025
a W b FH . e BB A HHEISE e JEEE
Translate the following sentences into Knglish: 2025

O BREIGRHEE (use play) O I THREEKHH) o

& fhnrER o O fhirE—A&E> Tefdl150o
® FHBPRIIRAEA o

Pick out the part of speech to which each underlined word belongs :

POBBOZE0003C

2080 Ee0e

© 1t is cheap for I bought it cheap. a. b. 207
@ A silk gown is made of silk. a. b.
© Let the dog bark, its bark will hurt no one. a. b.
© Leather shoes are made of leather. a I
® He only had a son and he lost his only sou. a b,
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¥

Correct errors: 2024
@ The sun rose in the morning. @ Ho has eat his food.

& He speaks to me yesterday. €@ Waited here until 1 come back.
& They done their best.

Rewrite the following sentences, changing the verbainthe active voice
to the passive, and those in the passive to the active: 2075
@ The story has been told me. @ Tho first cup was left empty.

& Ie asked me a question. @ The child was bLitten by the dog.
& We studied a history of France.

HEWHETHD

Choose the right word in the parentheses: (142
g %

@ | have never et any one who had (everything, anything) he wanted.
@ We think too (much, many) about things we haven't. -

& Biush your teeth (in, at) night and (at, in) the merning.

¢® This desk is made (of, from) woad.

& Man is a (curiosity, curions) animal.

@® | feel very (bad, badly) this morning.

& To (who, whom) are you sending these books?

Fill in the blanks : (162

@ The {ly is one of the most enemies of wan.

& Is your mother home ¢

& I put my clothes.

€3 Silence is in strained situations.

& Work hard you will sncceed.

@ He oheyed his parents without a

@ Kespect each of the family.

@ 1 meet a giil is your sister.

Correct the errors: (15%)

@ He said that he was mistake. @ You need lot of sleep.
@ There are two thousands students in this school.

€ We all live in the earth.

® Sugar cane likes Indian corn as it grows.

® Now he no more envies the birds. © 1 want to buy a best pen.
€ She go to school every day. @ You learn English easy-
@M Things have goiug smoothly. g Can 1 help you?

® He have two books. @® It only goes 50 foot deeper.
& He is a fool man. . & 1 see him yesterday.

Give the past and past participle of the following verbs: (12%)

@ catch, ) , @ caty e 5

€ think, s ., € give, ’ »
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Vi

|

Vil

I

I

b

&) write, , D m, Y
Make sentences with the f"ollowmg words or phrases: (1573)

€@ in company with : @ discover : & duty:

& in fact: & wet:

Change the voices in the following sentences: (109)

@ The rats were caught by the cat. @ I see my brother.
@ You can seo it. € 1 gave you a book.
& America was discovered by Columbus.

Answer the following questions ; (109)

What bridge is the longest in the world 9

How many years have you studied English ¢

Who is the president of China ¢

Have you ever seen a tiger?

When a fire gets started, is it necessary to bring it rmder control
quickly.

Tell each part of speech in the following sentences : (8%)
Both John and you are very good students.

2¢00Q

HNERNREE
Copy the following letters Ly word :
€9 IAMACHINESE. D TAIWANISATARTOFCHINA.

‘©® BUMMERVACATIONBEGINSATJULY.

@& TODAYISMONDAY. & ATSACHERTRACHESUSENGLISH.
Arrange the following words iuto a sentences :

@ on he chair sits a. © my fingers have 1 f{ive left on hand.
@) student a is a who boy studies.

€@ not English my is scoken language.

-§ sings she well very in elass the.

Write “Yes” or “No” in the parentheses :
D

T Chinese is a language of U.SiAu-reeermmieiiniminii., ')
€ English is spokeu in the Unfted States. .oorrvrevreminiii ¢
@ The sun rises in the south and sets in the easgb. <eeevieovviin. )
€ We, Chinese stidents, hate the Communists. cveevereiieninaannninni. ')
&) She reads her Hook with her €arg...c.occcerviiiiiniin.. >
® 'The word “parents” means boys and girls.--reerceennininn. )
@ Yi-lan is a county in Taiwai. .-emeeesiimiini ¢ )
& Taiwan is not a part of America...ocrseemernes i, ')
@ We celebrate The Double Tenth in August, «-ocoevrevniirninnnin. )
@ T walk with my hands and work with my feet..cerrvnnivennen. ')

Correct the errors :
© The sun was bugger than the earth.
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People ought to visits the denuist twice a year.
After his mother died, he goes out once more.
He arrived of the church.
He become the leader of these men.
His uncle took care at him.
There had some men like himself who had been badly treated.
I did not wrote the letter.
Bee what a nice cord this are?
That is just what 1 have wanted.
the blanks with suitable words :
do you want ¢
A man has a beard is a bearded man.
1 a book, and it to me.
I have a friend___ house near yours.
Tcrossed a bridge this morning.
He ~  home and went _ bhed.
I___ to him, “This is my hook.”
He me a story. D DPlease, = me some water.

did you see him 9

HIZBtE P B
Read the following paragraph and answer the quesmons given below, :
€2022)
The common house fly is one of the most dangerous enemies of man,
It is dangerous heeause it carries disease, The fly can be seen almost
any fwarm day {lying round any house, It does not care whether its
food is dirty or clean. The food it likes best is often the dirtiest that
can be found. Whenever you see flies in a -house, kill them at once,
By doing s0 you may save someone’s life.
O Do you think the fly is a friend of man ¢
@ Why is it dangerous ¢ . € Where can the fly be seeng
@ What kind of food does it like best T
® What should you do whenever you see flies in a house ¢
Correct the following-sentences : (2025)
My friend can speaks English fluently,
He did not went to Taipei very often,
My teacher said 1 have done my work very well.
My sister told I many interesting things,
We have bought a two-stories building,
This book is writing in simple English.
He is not polite, so I don’t like he,

060003000

en0eld000ce 3

09308690
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@ They are taken dinner now.

@ Tea is make from the leayes of a plant.

(@ Wash your hands before eat,

Explain the following terms in Chinese : (203%)

@ language @ silence & honor €) experience

& reason @ vegetable @ Dblood & hospital

® nerve @ responsibility @ sweet drinks @ cold bath

® freedom of thought @ gzood manners

({® summer vacation @® a square mile

@ Pacific Ocean ® a man of ability

@ the surface of the earth @ three thousand feet below the ground

Complete the following sentences : (20%)
is our duty.

My father is too = to
Heisno longer .~ . .
You are more_ than

What didyou . e ?
Give the past and past participle forms of the following verbs :

Q sit D put © catch @ discover ® am
® have © become @ hear @ sleep @ know

HAHRRERRER
It the idea is correet, put ¥+ in the parentheses; if it is not correct,

put “--" in the parentheses:
Fxample: There are four seasons in o year

800023000 ¢Q

Three and four are eight .- eeesecveiirianns

€@ The sun goes down in the evening -+-.-ecevreeiennnns
@ A dining-room is a room where we sleep -«ooeorrrieeiinneinniini.
@ Taiwan i8 a part of China «eeeeeivrreiviiniiiiiiiiniiiiiion
© A bicycle hag flour wheels «-cocereerremniniiiicinniiniiieenia e,
® We, Chinese, do not eat with knife and fork, but with

chopsticks ......................................................................... ( )
@ Dogs do not eat hay «-cocervrmmininniniiin )
© An elephant is much smaller than a fox..rveevierrnirenniiiins )
@ We clean our clothes by washing them .eveercrvseirenneciiaaninne, )
@ A tailor is & man who makes desks, chairs, etc ..e.ceeeeviensncne (D)
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(@ ldle boys are sure to be promoted ...oovorverimininiininiine crreanes I
B. Choose the correet word in the parentheses.

C.

D.

L

2]
3
0
®
®
o
=)
&)
©®

Example: 1 walk with my ({ingers, eyes, feet, head).

We often put some ({lowers, candles, meat, fire-crackers) on a
birthday eake.

Cocks and hens often dig in the earth for {worms, eggs, jewels,
sand ).

When we want to see the time we look at a (compass, calendar,
radio, clock).

Your mother’s sister i8 your (cousin, niece, aunt, mother-in-law).
A zoo is a place where there is a large collection of (animals,
books, plants, paintings).

When the sun is (near, close to, behind, above) the clouds, we
cannot see it. .

You brungh your teeth with (soap and water, a ‘comb, an eraser,
a toothbrush).

In the evening we have our (lunch, breakfast, supper; tea).
When we want to send off a letter, we go to the (post office,
railway station, hospital, police station).

Shirts are made of (steel, cement, paper, cotton).

Underline the error and put your correction in the parentheses.

800003020

Example: Will you wait me after class? (wait for me)
Have you see the monkeys 7. { 3
He runs faster than you and me, ( )
1 not sleep well at night. ( )
Tom is wise than his brother. ( )
Thke teacher will teach us if us don’t know. C h)
July and August is warm monihs. ( )
Who will you go to the party withq ¢ )
Either he or you is mistaken. C )
1 do not like live in the city. { )
If it will rain, shall we stay at home ¢ ( )

Fill in the blanks with the present, past, or present perfect tense, as
required, of the verbs in parentheses.

00000 e

Example: He gets (get) up at seven o'clock every day.

He ~(get) up at six o’clock this morning.
The sun_.____ (rise) in the east.

We (go) to the zoo yesterday.

It {rain) quite a Jot this week.

I (study) Knglish for three years.

There —{bo) seven days in a week.
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@ The doorbell.____ (ring) very often.

@ A full moon____(look) like a ball.

D We —(have) a picnic yesterday afternoom.
@ 1—— (be) in Tainan twice.

AEHmOTPE

Tranglate the following two passages into Chinese : (2025)

a, Not satisfied with his mastery of the earth and the ocean, man
turned his attention to the conquest of the air. As he watched the
birds fly above him, he wished to fly too. First he made Dballoons,
but they were at the mercy of the wind, and man wanted something
that he himself could control. So he invented airplanes, and now

he no longer envies the birds, He sajls the air when and where
he wills,

b. Qur fatherland is in danger. Citizens, to arms ! to arms! Unless
the whole nation rise up as one man to defend itself, all the noble
blood already shed is in vain. People of Free China, will you die
under the exterminating sword of the Russians? [kf not, defend
yourselves. Will you look on while the Russians tread under foot
the bodies of your fathers, mothers, wives and children ¢ If not,
defend yourselves,

Make sentences with the given words and phrases : (2025)

Q@ seen: © used to: @ the-..... the---..: € as well as:

® though: @ look for: @ by means of : [ I T SECEH ageee 3

@ since: (@ than:

Fill the Llanks with appropriate words or phrases : (202)

@ He will come next Monday.

© Our teacher told us that ___ earth is round,
@ This is the book [ bought yesterday.

© I like swimming____ the evening.

® Isee Maryrun.  a dog.

® The bad weather prevented them from

@ My brother wishes __  see you again,

@ Whom______ you meet yesterday.

@ Those letters  written by my father,

@ Work hard___ you will fail,

Correct the errors in the following semntences : (10%)

@ China is one of the counfries in the Asia,

@ It is best of all, © 1 am writing a letter when he comes in,
© If I was you I would not go, @ He dare not to speak loudly.
® The book on the table belong to my friend.
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© You should not comes late,

& LEvery child very loves his mother.

@ 1 can read neither English or Chinese.

@ My father is very busily everyday.

Give the equivalents about the following words and phrases: (10%)
0o 2 O BW @ & O R @ [
(G o Mk © B O R O s
Translate the following into English : (2025)

O RSHBREAGE A T & BB REERE o
®© JMBRORGLE O AR THEBEMEET o

© NERERKIINE T
BIEMTAFHE

Explain the following words and phrases: (209 ).

© look after @ to arms € Dby the way
€ a great deal of ® take hold of ® in case of

@ in search of Q) to get rid of @ carry out

@ in order to @ liberty @ advertisement
® fine-looking @ overwork ® merchant

@ graduate @ independent ® waste

@ normal @ invitation

~
[

orrect the errors in the following sentences: (2095)
My brother has planted this tree ten years ago.
1 have an interested book.

There is few people who do not Jike music.

He work hard so that he can succeed.

He could wrote as well as you.

1 saw the boy hide behind a tree.

He is a American but I am a Englishman,

Anyhody has taken my -knife.

They said that they are very glad to see me.

Mr. Chen, my teacher, who is a very clever man.
1 in the blanks with proper words: (102)

Wine is made ____ grapes.

You will miss the train____ _ you hurry.
Each of the girls a pencil.

Mr. Chang and I friends.

When do you get up the- morning?
Where all the people gone?

We all come to school learn.

009320000 =Z6009Q200RQ

He studied -_of all the boys.
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@ We didn’t go to the park Sunday.

@ It has been more than one month I saw you last time.
D. Translate the following passages into Chinese: (20%)

© Circling over the field, the silver ship headed south toward Thailand.
The children watched until it was lost to view among the clouds.
I am planning a trip to the Sun-Moon Lake with some of my
friends, as I haven’t been there once since I came to this island.
In the morning it stopped raining for a while, but soon it began
again, 80 I had to keep indoors all day long.
Unless the whole nation rise up as one man to defend itself, all
the noble blood already shed is in vain.
You need not he proud of yourself because you have succeeded in
the entrance examination. Neither need you be disappointed because
you have failed in it.
K. Translate the following into English: (152

O iR BEEKHFE o O AT ) TEFW -

© MG > O  HORIPHRPEHERNET o

® B—ELELD MKIAED o
F. Angwer the following questions with complete bnglmh sentences: (152)
1s it difficult to study English? © What date is it today?
1f anyone thanks you for auything, what should you say?
What will you do for your country?
What lesson do you like best in the jumor middle school?

HEFOTTRBREBE
— FHIESEANGER (102) » (BERRD
Workman ( ) lron ( ) Engine ( ) Steam  ( )
Energy  ( ) Physics ( ) Steamer ( ) Motorcar ( )
Chemistry ( ) Eleetrice ( )
= PP AERE R (EERRE) ¢ (102)

9 © & ©

20009

AR ) BI= » I » ThR ’
SR B » HiH o B ’
IREE ? SA5R o
= BEENTRATIISEE 02
@ We.___ our country.
© I am waiting ____you,
© Wecan_ speak good English,
€@ You will become a useful man.._the future,
® It is easy to say things, but it s to do them.

P ORETIAAPESE RN PR E (102

@ Teais______in China (grow, grown, growth),
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Is your bieyele._______ good condition? (ef, with, in)
Have you_______ geen a tiger 7 (never, ever)
There are many __words in this lesson (difficult,
difficulty).

& You must have
HOPURE TG (10%)

Present (HlfE) Past (GEF:) Past participle GBESED

oo®

this book. (see, saw, seen)

© Know

o threw -
(13} lain

o brought -
® Put

N BIETHI PSR CEHraie > BORy Rt L) (o
€ lle do not like me.
& Today is Monday and yesterday is Sunday.
& This is not my book; it is your,
¢® We must asleep eight hours a day.
& I shall try understand every words in the beok.

B ISR FAIERIN (2025)

@ What are you d0oing now 9 - ceeeeeemvmimieies i irecennrinaenas e (
@ Do you often study your lessons at home ¢ - (
@ Does he go to school in the summerQ -......... (
@ What did you do vesterday TOTAINE T covvevermveniiintiniiininn.., ¢
® llow long did it take you to prepare your lesson last nightq (
HIT5 i rEg i (phrase) J%40 (2025)

{) need not \V.) .............................. vee s ceqe (
@ gl~e;1te1' (ad_]) .............................. (
@ p]e“ty' (adv) ................. : (
@ cither (proﬂ ) .............. (
& neither...... nor (conj.) - ¢

%ﬁﬁ#ﬁ%m?‘

I  Translate the fol]owmg into Chinese
When & Loy or girl has left school and looks after his or her first
situation, the master or mistress at once asks, % Have you brought a
good character? ” A good character, then, is the first thing that
everybody needs in life and everyone who has to earn a living should
be very careful to avoid bad habits and bad companions, for these
ouly give one a bad name, (207

I Make five seutences with the phrases below 3 (2025)
) either...... Or-sseee @ make of @ according to

(R Y v

N N s e



O Go to bed with the lamb and get up with the lark.

@ Use is better than ornament.

xR oM 29
@ arrive at ® afraid of
K 1ill the following blauks with an appropriate word; (20%)
© They ( » gone to Taipeh last week.
@ Both you ( ) ke will be punished.
@ She is ( ) smaller than ler younger sister.
€ Your success will depend ( ) your effort.
6 John is a general as ( y as a scholar.
® The old man who ( ) sitting there is my grandiather.
& It rains ( ) and then in sumner.
& Iron is the ( ) useful metal.
@ The sun rises ( ) the morning.
O (C ) all, ke is a good citizen.
fV Correct the errors in the following seutences ; (20¢3)
O One whose works hard will sncceed.
@ He has write a letter to his {ather.
© Every student should do their own lcsson.
© Wrto does he want to sce ?
6 The bird sing on the tree is 80 Deautiflul.
® Having been wound by an arrow, the dog 11 down.
@ Is it me you wish to visiiq
& The boys are run toward their school.
@ My book is not se new as your.
(D Does he go to the city yesterday?
YV Give the noun form of the following words: (10%)
O act @ poor € move ¢» believe O difficnlt
O brave £ golden @ combine @ fail @ choose
VI Translate the following into Chinese : (102;)
| I O kR 0 el O 5
® WK 8 = O uE O @ o
EXHRERDP R
I Translate the following words into English and vice versa : (207
O RIEW B EnE O HECH O IGEH
® ¥ ® JF M D B X o W =
O F b O Gfrs % enemy {» spinach
® referee & consonant ; sheet @ towel
@® elephant & throat ® ticket @ platform
I Tronslate the following sentences into Chinese : (152)

© The more the frogs jumped, the wore stones the boys threw.
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@ You gave me ten dollars, and here is the fiftecn cents change.
® Eating between meals is a bad habit.

Answer the following questions: (1525
When we part, what do we sayq

How many fingers have you?

What are you looking for?

Who is that man standing at the door 9
Do you sometimes go on a picnicq

ZP0B0Q

ake sentences with the following phrases: (1592)

as goon as @ instead of @ owingto €Y according to @ ask for
Fill the following blanks : (1025)

We have no water _ - @ Moststudents are fond of

He not know. €@ We laughed the funny sight.
Iron, lead and gold _ metals.

My uncle is able man. © He is tailer 1.

My book and are new. O To-morrow Sunday.
Either you he broke this cup.

=~

80c9%Q

Correet the following mistakes : (1094)

@ The boys running down the street.

@& Many a man do not know his ability.

€ One of these girls are my sister. €@ He is a old man.

® 1, who is old, have never seen a worse storm.

® No one shall to go there. © It not rain last night.
@ The leaves have begin to fall. © 1 done it myself.

{10]

Bird fly from the north.

Change the following sentences : (1522)

A. from active voice into passive :
@ I see a cock.
@ He told me a story.
@ Mary buys me two pens.

B. from passive voice into active :
O A cat is killed by a dog.
© He was punished by the teacher.

C. from declarative sentences into interrogative ones :
O He has three brothers.
©® They like to play tennis,

D. from compound sentences into simple ones :

@ He is tired and he lies down to rest.
& Spring comes and the day becomes long.
@ He is sicl, therefore he is absent.



HABRERBREBR

BRHTYhee®
@ monality & photograph € success €@ victory
® sacrifice (P magazine- © ountomobile @ education

@ hospital @ composition
BH THIEERE R RIIH

GBI GRERGFD CEFER) GREZE)
O thiok ®O swim o
& give : . oy
& speak
FEIGII R %%T[ﬁl%ﬂfﬁﬁ
€ The music sounds (sweet, sweetly)
® You are taller than (1, me)
€ (Whon), who) is that man ¢
@ You learn English grammar (easy, casily).
® (What, Which) of these toys do you like best
4Em%&m@mf’mﬂm%&IM“ :
O 1 read a book __
@ 1 have eaten an apple
@ He wrote a letter
@ Our teacher tells us story
A letter will be written by her

)

Hainan is island,

The horse is _useful animal.

Have you _money.

He was born Dee, 30. 1932.

I get up six o’clock the morning,
He is fond play.

Please wait me at the door.

He puts nis hat.

The letter is written English,

Both you he are diligent,

92080 OE D

E:
&

What are the four seasons of a year?Q
How many persons are there in your family 9
Do you want your country to be free and independent 9
I8 China an ancient nation or a modern nation 7
" Do.you think that education is a good thing or a bad thing ?

PCBCOI B6G0Q
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Translate the following sentences into Chinese and vice versa:(30%5)
@ They are seeing their friends off.
@ 1 choose what 1 want with great care.
@ The playing children are very noisy.
€) He worked hard in order to gain the prise.
® There came a messeuger from a distant city
O IRIEALRPLE R E ® EARIAEEETER
Q© AEHNBASFE ) RELWHHSE, @ ﬂ%i%ﬂﬁ%&m%ﬁo
O {LESHERIE o
Give the antonyms of the fo]lowuw words:(1025)
Tor example: bad------good.

€ beautiful @ careful & cruel @ death @ different
(P chesp o crime O accept @ absent (@ admit
Fill the following blanks with words: (2025

There_ . some good news in this letter.

She always arrives—.—._school a little early.

He_______ Bnglish well. O —_you have any sisters ¢

The train leaves.—___ six o’clock.

Her birthday is—__the fifteenth of January.

e did not come,__ he was ill,

We— . _be ready in a few minutes.

1t has been raining_______two hours.

The girl_____is playing piano is my cousin.
orrect the errors: (10%)

The two sisters love one another.

I went to my school tomorrow.

He is think of his motber.

He can ran quick.
& 1f 1 was a bird, 1 could fly away.
Muke one sentence with each of the given phrases: (30%)
€ S0 e that. @ different from. @ either or © iu {ront of
& full of (® =again and again @ interestedin @ 10030
@ one by one () instead of

HEPE_PR

Translate the following.

a. from English into Chinese:
D after all © citizen @ lateron @ at least
& cigarette ® cut into picces € policeman @ rickshow

®@®®C@®@®@@@@©
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street car () by no means

b. from Chinese into English:

O =% o FHk & R D\
® WE 9 ®m O W D WA

Fill in the following blanks:

@ 1 mustgo  once

& He put a book the desk.

@ IHeis clever you.

@ We write_~ ___ our hands.

€ He was 80 happy_  he did not know what to say.

@® 1 shall remain________you come.

©® The man is poor he is honest.

@ I donot agree_ _ _you

& The table is made  wood.

(D] 1949 he began to study linglish.

Translate the following paragraph into Chinese:

Many years ago, there was an emperor who was 8o foud of new

clothes that he spent all his money on them. He did not trouble him-
self in the leist about his soldiers or his country. He did not care at
all about hunting or shooting. All he cared for was to show himself
in his new clothes. He had a different coat for everyday of the year,
and for every hour of the day.

Make sentences with:

© either...... or @ sble to & like to
@ afraid &® whose
Change the following sentences fiom the active to the passive voice:
@ She teaches us. & You broke the window.
@ 1 shall tell a story. € He is writing a letter.
® They have laughed at the man.
HEBEPLFPEA
Choose the correct word or phrase in the parentheses: 2024
@ We (are taking, take, have taken) a lesson every dny-
@ 1 (saw, see, shall see) him yesterday.
© Iie (come, will come, came) tomorrow.
© He (go, goes) to bed very late.
® She and I prepare (her, my, our) lessous well.
@ There (is, have, are) two books on the table.
© This park is (beautiful, beautifuler, more beautiful) than that onc.
Q@ IHe sings (good, well, nice)
@ 1 usally come to work (in, on, by) train.
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1 go home (in, at, on) six o'clock.

I Answer these questions:

eCc00Q30CORe

Have you ever been to America?

How long did you study Chinese in China?
Where are you living now?

Which city do you like best?

20%

Did you come to England by yoursell or with someone?

Are you busy today?

Will you be here tomorrow?

Can you speak English -

At whom i8 he looking?

How many students are there in the room?

E. Till the blanks:

3
2]

13
O

The days of the week are

35%

The months of the year are

The four seasons are

Write the numbers from 10 to 22 ten ___

IV Translate the following into Chinese:
China must become modern. Western Science is not Knglish Science

or Freuch Science or German Science. There is only one Modern Sci-
ence. The man whe loves China best is the one who wants her to adopt
Western Science and become a modern nution.

HAEPREBRBRK

—~ Write () or ( x) in the parentheses : (207 )

8850089000 Q

Monday is the first day of the week. «eroveceireiiriiniiniinnn, (
We come to school on Sunday. -.---.- Sevrachsatrerntesiesaananeressnes . (
Newton was a great scientist,.---.--« reetesectnisnate stasartarenians veene (
We have a long vacation in 8utummn. -eceeeeerecereereiieniinninin (
Lions and tigers are wild animals,.«..cc.c.

There are many rice fields in Taiwan..-.

We should play all day long, -++-ecrermnsrmnceceecuannnnnans I ¢
It is a bad habit to get up early.-.e.oeeees evererresensnerraenarisanaen (
When you write a letter you put it in an envelope, -

Your mother’s sister is your aunt. ceeecoccmierniniin. (

The day that comes after to-day is called “yesterday”........ (

2594

[V B "2 S A N N RN S

N
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P Winter is the first scason of the year. cevvvvereeeiiennns N
@ People often give their frieuds presents )
@ If you fall into the water and can not swim you will e

AL OWNET e treerereresraasnnetrosereaiasssrenteeereransoosessennsersnnsteeeessonneans )
® A hare has two long ears. «eeeveneiiiniiniin, - ()
©® In olden days people travelled on foot or on hozseba.ck. ()
@® Our flag has three colors, blue, white, and red, -+ecreeerees « ()
® Double Tenth Day is our national holiday.....cccereee. ()
@ We have five meals a day ...................................... ()
@ Chinese have Dlack hair, and Americans have Dblond...eeereseres ([

-~ Choose the proper word in the parentheses : (107

Example : China is a (city, country, island) ---ereeereeereneerens (country)
@ 1 (meet, met, meeting) him last week. «er-eereerrermiirimeniennienne (D)
© 1 can swim very (nice, g00d, well) «vevveerieeeiorieenimininiinienn. &)
€ He ate too (great, much, many) pork. < eeceeriiaieesiainniiiinnnns «C )
@ The book is (on, above, over) the desk. «e-wereeereuierininiinnes D)
(5] Maly is (song, sing, SInging) NOW, «+-ceeererrimienneenre it )

=+ Fill in the blanks : (202

Tamglad ____ see you.

There are many______ of fruit.

It will_______ fine tomorrow.

My head aches. _this morning,

It is_ hot to work.

Windows are________of glass. '

John is_______youngest in this class.

We take our lunch noon.

We have English lessou______ Monday.

They— . running along.

P4 ~ Write out the past tense and past participles of the following verbs.
(10%)
@ s 0 @ come__ @ cury_
© catch_ ® take _ =~

Fi » Translate the following sentences into English : (20”
O RE~MBEo O FEREEEo © LILERMNE
0 KB ® BWEENEpo

A~ Answer the following questions : (2025

How many fingers have you?

What are the four seasons in a year 9

What do you say when you meet a friend in the street ¢

Can you count the stars in the sky?

Which runs faster, a hare or a totoise ?

06Co030R0Q

LYY
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HAEPER TR ES

W F VIR SRS
D Bk O =i ® it @ Hi ® Ay
® NiwoE o Ed Q Mg O =B @ Hak
FETFYIESGRE P

QO June @& respect & factory @ Dbicycle
%5 umbrella ® hundkerchief @ science @ ox
¢ The Republic of China @ America

SE F oI 3R -

@ Don't he know my name?

& He go to the City once a week.

& 1 don’t like to play with those Doy.

@ She gave many money to her son.

& You are taller than me. @® This pen hroken.

@© Whom is your father? @ This desk is made from wood.
@ 1le is a honest man.

® The man who you met last week, is my brother.

A4

€ in order that @ has leen @ asif

€ to visit & at home

IV TP

@ How old are you? & Where were you horn?

€ What do you generally do on Suudays? '

@ Write the names of the Iinglish looks that you have read.

&® When do you get up in the morrning and when do you go to bed

in the evening?

HAFPERBRBK

Give the English equivalents,of the following Chinese and viee versa: (2025

O WH#HE 6 HE & B D R ® i
® Hip o B @ R O HifF @ -4l
@ glory @2 sacrifice B justice @ advertisement

® Dirthday D Lelp each other @ afraid of @ . in stead of
® us soon ags & no longer
Correct the mistakes in tle following sentences: (20727)

€9 The sun rises from the cast. &© Work hard, and you will fail.
€ Who do you like DLest? @ It had rained last night.

&) He or you has taken my hook. (® PBoth you and he is to blame.
© e is as old as ne. @ The water in the pool are fresh.
(]

June come hefore July.
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@ If I am a hird 1 would fly in the sky all day.

Change the statements into questions: (15%)

@ He goes to school every day. & I!le may cateh the train.
€ There are many kinds of soil. € He can swim gnickly.
6y She is writing a letter.

Tl in blanks: (20%5)

@ This table is made______wood____ the carpenter.

@ The sunrose______ six o’clock_ _____ the moruing.

@ 1 shall fly the top that tree.

© I was born  ___ the third___ July.

& He used to get up dawn. @ 1t belongs him.

© We come here train. @ 1 called him at his house.

@ 1 quite agree VOU.

@ This work must he done_ ten o’elock.

) She turned to him_ & gmile.

@ It 18 about half a mile my house _my school, and it
shont a «uarter of  hour to get there  ~ foot.

Translate the following into Lnglish: (2522)

QO ABEMHLEHE -~ Ao B R R BB R

& FFHA BRI © O  BAHPETAME 0

® SIEHIIA !
AxXx AR PR

Vocabulary. 1024

© health @ experience & polite @ train

® friend ® &l O XN @ HES
@ LA O %

Filt the following blanks : 1025 (BF/E)
.-@ \We shall go in spite the rain.

@ Both you he are diligent.

@ 'He as well ag yon ______ my friend,

@ I get up_ six o'clock in the morning.

@ All Looks are made paper,

® Where there is a_, there is a way.

P His elder brother is taller e,

@ She is rich, I am poor.

@ 1 have Jost the watch __ 1 Lought yesterday.

@ Sheis __  prettiest of all the girls in school,

Correct the mistakes in the following sentences : 1025 (BiEE)

@ The earth was round. @ Have you some hooks ¥

@ The sky is on our head. € Her mother is a old man, -
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6 She has a friend whom is a teacher,

Answer the following questions : 2025 ([H}ZF¥)&RIMED

@ How old are you?

@ What ave the four seasons of a year ¥

@ IHow many persons are there in your family ¥

@ Which lesson do you like best 9

& How Jong have you studied English 9

Change the following sentences from the active voice into the passive
voice and vice versa : 152z (Bt EIEERCESHEDh » ERRBEEEKIS 9T
€@ He has learned Lis lessons,

@ A watch was given me by him,

@ 1 shall finish this work to~morrow.

€@ A letter is written by my friend,

€ Our teacher corrects our exercise looks,

Make sentences with the following : 1525 (Z&4D

@ not only----.-but also, @ foud of @ larger than
€) to take care of § read,

Trarslate the following sentence into Chiness : 1022 (FizR F A& Al L)
We should love our country.

I have not a moment’s lcisure at present.

The 10th of Oectober is the birthday of the Republic of China.
Mary and her brother always study and play together.

Our duty at the present time is to - fight against Commanism and
Russia,

Reading Test : 109

Abraham Lincoln (#F) was a very kind man. He was always a
friend of the poor and the weak. One day when he was riding with
Lis friends through a wood, he saw a little bird Ly the roadside, It
had tallen from its nest in a tree near-Dy and was trying to fly back
to it.

After riding o short distance, Lincoln said to his frizads, “Please
wait & moment, Pl be baclk soon.” So they stopped their horses ang
waited. Lincoln went to pick up the bird and put it back into its nest,
It the statement is covrect, put “+” in the parentheses.

If it is not correct, put “— (¥4 LAIRCE B T ViRAIN » BagBIES
LEE =7 B o

OGS

@ Abrsham Lineoln was riding with his teacher eoeeereesemusenenna )
© He saw a little bird by the roadside, «cvveerveeriainns feenenenenen )
@ The nest was in o tree near-ly....... - ()
€@ His friends did not wait for him, )
® Lincoln went to pick up the bird and put it back into its
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J. Correct the errors in the following:

@ The sun shine brightly all day.
@ The teacher saw he and 1.
€ Neither my uncle nor my aunt visit us.
© 1 saw a cent, running across the street.
® Who did you choose for captain?
® 1 have written a letter yesterday.
© He is the tallest of the two.
@ Snow begun to fall.
@ We were taught that honesty was the best policy.
@ It had better to die than disgrace himself.

. Change each singular noun to its plaral form:
€) hero @& baby @ wife € student
& valley @ mouse @ deer @ ox
@ woman @ goose
Underline the correct English words in the following:
QO H £ a. brush b. bottom ¢. breakfast
© KA a. careful  b. cheerful c. cheep
® HHIY) a. regular b, remarkable c¢. rapid
O B B a theatre b. thrifty ¢. tramear.
® E/E 2. superior  b. submarine c. steamer
G s a. idle b, ignorant ¢ industry
@ TN a. latter b. Indder c. library
@ TWEEA a. pipe b. phonograph  c. promotion
D BB R o statesman b. stranger c. sarface
@ K ¥ a. convenience h. cargo ¢. charcoal

i¥  Rewrite the following sentences by changing the voice:

A. Change the active voice to passive voice:
@ The servant broke the cup.
@ Al his friends laughed:at him.
@® John told them a story.

B. Clmnge the -passive voice to active voice;.
© The roof of the house was broken off 'by the wind.
© The crops were destroyed by the flood.

©® The ship was seized by the enemy.

3024

2095

0%

3022
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(1) AR FIOE RN 525
O sk/sept -, oane )
& “bimis )
€@ ka:d )
€y geit )
® ‘omd . )
@ ) m}&] T IUC el AGTRY 'Tﬂl})tunbﬁﬁ%ﬂ: { ) ';‘ : 525
3 -l_li}:{’; W‘Jﬂ'rli“‘j'?}fnl'i"‘mka’ﬂ: C ) :
@ 5 4 @ right ® light @ wright @ write ( )
D Hii— © Monday ® moonday 3 mounday (@ noonday( - )
® B B (O phase (@ physics (3 phrase @ physic ( )
D {1 H O library @ literary (@ liberty @ freedom ( )
a h (1) sugar @ sogur (® suger @ shoger ( )
() BUE TSSO AR ¢ ) s 525
AE s AT —pJEEqE D
@y wmarket MFFHE @rﬁll' (O} @Gl )
@ oprincipal DOER O OFBMN @FT-- - ( )
® tread ORL O#E OB O ( )
@ passenger (DL @731'3’6'8: OME ORER- ( )
® wander  ORSM 2K Ok OPFR- ( )
I &=
(IV) BUET M@ O ) Aol Essiy reed s Baide ¢ ) s 1oz
(@ what @ which @ around @ at @ round (@ in (@) am
(®) were (22 went (@ going)
@ The game began  30%loCki e, - )
@ The earth moves ____ the sun. «oooreveiniin ( )
& Ir1 _youl would study hard )
@_ o (40 yOll like best T T )
@) 1 am______ to SCHOOL. - vvi i e e )
(V) HEEVH@EE C ) hlasEi et el meiE ) e 10
VE s WP AR — A ¢ )
D well ® do @ writing @ write’ & the @ at @ an
® saying (@ have}

8863d3

I am written a letter.

He is a cld man:

What are you say?
People laughed him
He can speak English very good. -oooovorviinn . (

P
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() AFFTFRHL SR e e ¢ ) o 1025

FH O boy @ am () good @a @I e (5243 1)
@ doing @you @what (@Dnow @are (5P «---eevorerene ( )
@ ®hook ®a ®stood (@Dhe @there @reading----.- ( )
@ Ofail ®@study(Dor @will Ghard @yott--reeeen ( )
@ Ostudent @what Bdiligent@s, @are @you @V .- ( )

@ (Dteaching @who (Bhe @man @Bthe @is  @her
@ENHSh (g vvvrerererar it ( )

K. B2 :
(W) SefFRBERY M0 e SCPR BN ¥ BRRRAHL e B iy 2R e
C ) 1525
A BZ

My hest friend 18 a most learned man. e knows every thing and
studies nearly all the languages spoken Iy markind. His memory is
extrewmely remarkalle. IIe remembers whatever happened in the world
either present or past. Ile has aught millions upon millions of young
men. He is not ouly my best friend, but that of many others. Do you
krow what his name is ? ‘

B. ) i .
My best friend is (D an honest man (&) a learned man
® my old friend @ a most learned man.....oeveerenrenn. ( )

He knows (D nething and some languages (@) all things and
most languages (3) every thing and almost all the languages in

the world (@ all things and all language - ooovveeinins ( )
He nas (O very good @ poor (®not so good @bad memory
T PR P T ( )
@® Heis (O only my & many others’ @ all people’s @ some
yeople’s best friend ccrverrerriniiiiiiiiiiiiiiieia e ( )

What is his name? His name is (D School @ Library
@ Teaclher @ BoOoK v eer it i e e ( )

V =X f:

(W) "R : 2095

@ PRRRE? @ FAFEET o D WUH—-AFHo
© TRATEEEFE @ SRS

(X) 2025
® To Yook at @® with onr eyes @ is seeing
@ because @ hut
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(12 Answer the {ollowing questions: (2095)

@ What month is the fifth menth of the year?

© What do you call & man, who teaches you lessons?

® llow old are you?

© How many English books have you read?

® At what o’clock do you come to school in the morning?
(2] Fill in the blanks: (2095)

@ Heandl_ friends. @& I putit the deslk.
@ 1 must go onee. @ . ____he come to-dny?
® We  mnot know how to do it.
{3} Choose the right word in the brackets: (2095)
© He (live, lives) in a farmhouse. (. )
@ Water (is, am, are) necessary to life. ( b
® Let (1, me, my) go. ( p)
@ Sbe (have, has) a baby. ( D (
6 They are (write, writing) their exercises, ( b
(4] Correct the errors in the following sentences: (2075
@ He is 8 old man.
@ When we come to school, we am very happy.
® She write with a new pen.
© You, he, and I am all Chinese.
@ My brother likes to playing ball.

Rearrange each of the following groups of words 80 as to make a
complete sense. (1025)
@ I year seagon first the spring of the.
© 1 walk school to every day. & Your love country you do?
@ A dog of meat had once a piece. @ They good to are eat.
(6] Translate the following sentences into Chinese: (109

Double Tenth Day is & national holiday. It is the birthdsy of «The

Republic of China”. On Double Tenth Day. all the schools and shops
are shut. There is a flag at every door. .

CEAZTE S T
[ Give the note (3fZ}) 207 :
€ train @ advertisement @ invitation O camern
&) dictionary (@ as soon as O o little @ put on
@ belong to @ cousist of
I Translate the following sentences into Chinese (ZBFFIBAISY)
2025

m
(o2
wJ
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Work while you work, play while you play.

“ In a football game, each team has eleven players,

The more hooks you read, the more you know.

Boats Lhad been used by men many thousands of yvars before

anyone tried to make one go by steam.

Summer i3 the hottest season of a year. We do not like it.
Translate the following sentences into English (32 F#HI%HIS4E.0) 2022 ¢
O MY O  fLIELEER L o
© EUoLRgpgE—a e O BEFEIEIEM
© —HIFE MG — o
Give the past tense and the past participle of the following verhs.

(ZHTIBRERIFTL BT ) 20% «

e o8¢

Past Past Participle Past Past Participle
O read _ 0 e know
& go e @ do e
® make 00 @® ecat e
© stand @ soe L -
@ teach o @ take o
Correct the errors in the following sentences. (EH) 107 :

@ The vuited states of ameriea is not my country.

@ 1 loves the flag of my country.

@ Look to the table.

@ 1 stir my tea in a spoon.

® That is a teeth.

Give the opposite words. (Z{H TSI aEs) 10% ¢

@ high © long & Deautiful ..
o in ® here

HAXBEBHHhE

Translate the {ollowing passages into Chinese: (2527

The first gon could hold all the water he wanted in his mouth.
The second son could grow as tall or a8 short as he wished. The third
son couid be covered with hoiling water or ice water and not suffer
any harm. The fourth son couid make himself as hard as the hardest
in the world, and the fifth son counld get out of any place into which
he was put.
Fill each of the following blanka with a suitable word: (2027
€ There seven students in the room yesterday.
© Either be I am diligent. ‘
@® The boy came here yesterday is my younger brother.
© If 1 let you out of the cage, you eat me. :
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& My school has a Sports Day a term.
@® It has been more than one month I saw you last time.
@ This peucil differs that.
@ It is so high I can not reach it.
@ Where you come from, old man?
o 1If1 you, 1 should go immediately.

R Correct the errors in the following sentences: (202
@ She goes huy books. @ We studied a history of France.
® 1 and you are good friends. €) 1 eat nothing since yesterday,
& let me to go home. ® If 1 were her, I would talk less.
© He can drink many water.
@ No boy nor girl are allowed to play in class.
@ My friend, Mr. Wang, could spoke English.
@ Ilron is the most ugeful of all other metals.

IV If the statement is true, put “+" in the parentheses. If it is {alse,
put “—". (1025 :
o Man should be honest. seceeeeeaariniiiiiiiiiii i ()
@ We go to school on Sunday. --- )
€ The sun 1i8es in the WesSt. « -crvevreriiini s )
0 Taiwan 18 an 1Sland Of Chiite s verreriiiiniiiiiiiiiiiiiie i eiinenas C )
@ Three and fOUr MAKE SEVEIL. «crrereriaeeriiriarrrersrirnnerirneornreines L)
® The desk i8 made of Paper.-cocoeeooviriiiiiiiiii 2
6 The chalk is blacke e eereerieriiiiiiiiian, v e v irsseerarsaatirrsraraneerenn ) ( h)
© We must get up early. «--ovoeeemeniiniiiiiiin, e ()
@ Ie brushes his teeth every morming. «eeesoreeeseires eereneaas - ()
{0 Boys and gixls enter in the primary school at 10 age. -+eenet « H

Y Give the opposite words of the following: (1077)
O better ( ) @ mblic ( ) & poor ( )
@ soft ( ) & warm ( )y @ short ( )
© rouad ( ) @ war  ( ) @ ugly ( )
@ essy ( )

Yl Change the following veices from active to passive and vice veraa: (157
&€» They like him. © 1 shall be taught by him.
® We are writing English. € May hes caught a bird.
® Today many signs are seen by us on the road.

MZRHEREREYK
I Translate the following sentences into Chinese : (3027)

@ The man who loves China Dest is the oue who wants her to hecome
a modern nation.
@ Don’t put off till tomorrow what you can do today.
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© We eat to live, not live to cat.

I Give the noun word to each of the following adjective words : (102
@ lLappy © silent @ idle € diligent & free
® poor o true @ wise @ high {® honest

K Give the past and past participle of thc ollowing verbs : (1025)

present past past participle present  past past participle

O keep O do .
& go - @ have
® teach

IV Translate the following words into English : (1525
O WA B R .0 I b 9 W H
® il X @ M O 1 W @ B %
O i B ® 5 K

Vv Kl the blanks : (157)
€@ The building is school. & She is__ sister.
& This book is English Reader.
@ 1 have brothers. @ 1 go home.

VM  Auswer the following questions : (2075)
@ How many months are there in a yearQ
@ How many persons are there in your family 7
& Which do you like better English or mathematics 9
@ Why do you ke China
® How old are you?q

HEE 3N B

(A) i 5 SGREREAL » HESCIEI AL (J625s)
O 7 S e @ kY D WA ® b
O o i Q@ ki & Mk @ g
® HET @ 4 ® B {14 I ® Al
(6] ot TR B AL © Bl @ HhBg
D @ i D I @ iy D FER
@ mistake @ Conuunism D tail @ wheel
@ flork @ village @ kitchen @ (reedom
@ clephant ® oil @ fashion @ opportunity
@ condition 4 attention @ silent @ professor
@ problem ® clbow wy chemistry @ ocean
@ angler @ physical ® lLumor @® lospital
@ intelligent

(B) A1« T MRS < ) » B (O)o (10553 BIBRHE#T 145)
0 The cat catched n Uy PILL( ¢+ rensnrsrsranasisaerossaanesssnsrnessnnnonnsnes [
© He needs not come on Sundiayse-ooninn ()
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& That idle boy is tell lie again.....oioeeeenens T LI « )
€@ 1 get up early every morning-..ec... TP A U OTO PPN ¢ )
® The tiger is very much like the cat .--..-.. e eerrenrareeen tmanaaanen )
(C) #sit TSI A BB AHRT » BH—7 (2‘*\505})

I'll take care____you. @ Some rooms are used___sleeping.

___you seen a tiger. © He _ playing basketball now,

1 like to___ English. ® He is fond of ___English,

Each of the six boys____a book,

The dog___ his master. @® He___the letter yesterday.

I have___ Knglish for three years,

There___ four seasons in a year.

President Chiang is a great__ :

____is hot today. @ We___a bath everyday.
Windows are made__ glass,

The tree is loaded___ apples.

Is your mother___ home, ® April is a____month,

A Scout is___to his conntry. @ Ile is__ tall as 1.

He is wiser____ you, @ No place is___sweet as home,
Father likes__ @ 1 haven’t__ money.
Columbus____ America. @ Work___you work !

The queen ants___eges. @ Vitamin A keeps you ___ well,
____you a family here?q @ He_  two bhrothers,

There are many people___the Zoo.

It is made___ steel.

1 saw a bird’s nest high up___ the tree,

He is very fond___ tea, @ He is good___ English.

The dog barks___ the strangers,

I was born 1930, @ We__ a vacation in summer.

I absent yesterday,
About a hundred years____travel was slow.
Tell me___the city bank is, @ I know___ about history.
Ten leaves are by women, @ __ hot water in the feapot.
We use____in the making of bridges.
I saw two hoys___ were passing by.
Keep your bicyele in a___ place.
My brother and sister are__ with a ball
1 have not_____a monkey before.
Yesterday 1___ to school.
(D) 8038 - WFHIEAMEEZER I (15
@ The revolution has not yet succceded, aud our comrades should
strive on,

@@@@@@@6@@@@@@@@@E@@@@@@@@%@@@@@@@
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@ The shortest distance between two points is a straight line.
® A rolling stone gathers no 1uoss,

HIEXRETPR

(—) Make seniences with thébfollowing words:

@ wrong-doing @ send for @ to know ¢y cross over
© asto ® one another @ as soon as ) asked for
@ difficulty @ much the same

(=2) Correct the following mistukes:

His uncle took the care of I and my young sister.
I have met him yesterday.

Although I come, but he will go.

What a pretty bird is it !

I am fond of apples; if you have some, please give me any.
Will jon please to do me a favor?

Five dollars are not enough.

Can 1 go with yeu to-morrow?

1 see the plant grow every day.

He did that was right.

‘ ' gl
€000020CPBOYOO0I0PI0SD0C

( Fill the following blanks:
You and I ¢ ) good friends.
He can run ( ) than 1 ean.
Gold is not ( ) valuable ( ) iron.
The boy was punished ( )
Careless boys do their work ( )
The field is cultivated ( ) the farmer.
1 shall come on the ( ) ) day.
There was only one boy ( ). o
L quite agree ( ) you.
He was not cruel, ( ) the contrary he was kind.
(M) Give the nouns corresponding to the following verbs:
verb noun verb noun
@ Prepare @ Speak
€ Know © Read
- @ DProtect @® Imagine
@ Think I . @ Serve
@ Live — ® Pay e
(#) Give the following opposite words:
@ Fail ( ) @ Friend ( )
® Love ( ) O Wife { )
® Uncle ( ) ® Same ( ).
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@ Often ( ) & Wise ( )
D Cruel ( ) @ Win ( )
BABBLTHE

Vocabulary

@ announce @ Dbreeze @ camel

€ magazine ® army

® advertisement @ eagle _ Q@ scientific______

@ oifer (D shake O BEH

2 B ® W L I - S—

® e © W D

® WE___ ® BA— O wmE

¥ill in the following blanks. .

o1 writing a letter.

@ He wants know the answer.

& you seen my brother?

@ The dog and the cat animals.

& He___ _in town.

@ The Registrar and Magistrate _____ us to do the work.

@ Thisis beantiful than that.

@ The man___ you met last night is a thief.

¢ The teacher saw him and

@ 1tis_  who knock at the door.

Translate the following passages into Chinese.

@ The first son could Lold all the watér he wanted in his mouth. The
second son could grow as tall or a8 short as he wished. The third
son could be covered with Doiling water and not suffer any harm.
The fourth son could make himself as hard as the hardest thing
in the world, and the fifth son could get out of any place into
which he was put.

@ If you put small stones in a tin and shake it up, you get a noise.

Tiie stones Lit against one another and against the tin, and sturt
vibrations. Some of the vibrations are small and some are large,
soime are quick and some are slower. 1t all depends upon how the
stones hit. There is a mix-up of sounds, because the stones hit in
all sorts of ways. That noise is not at all like music.

Answer the following questions.

L= ]

What day is to-day?

How long have you been studying linglish?
Do you like Inglish? Why?

Do you know Japunese?
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® How many menbors arve there in your family?

SNMEESREREEER
Put the following Englisk iu.o Chinese: (2024
P milk £  water-way € agriculture @ graduate
® whether @ scientific & in order to call on
D agrec with ) in shost
Select the correct words.in the parenthoses: (3024
Suceess depends (upon, in, by) how much you have done.
It is (me, mine, 1) who did it.
Can you comz and see me (omn, in, at) noon
I met a gentleman (whow, who, which) is my uncle’s friend.
If T (am, be, were) you, I would not do it.
Are you {open, opening, opencd) the dowr?
What (did, do, done) you do last Sunday?
1 saw (much, many) trees near by.

00020000

The rain is (cowe, came, coming) down.

D We (do, did) not come to school every day.

Tranglate the following sentences into Chinese: (2595)

O A rolling stone gathers no moss.

@ DBefore long you will get used to it.

© 1 wonder what prevented him from coming.

© A full-grown chicken weighs from 3 to 6 pounds.

& Ie gave up the ides of goiug abroad.

Translate the following into English: (2527)

O EHEEHFS R o O HERHAT %

® BHiEITSo © AU AERr 2
@ HUUEENEIET

21N by TRY 2 T e EU Dete

BURET RSB
Give the past form and the past participle of the following verbs : (2027)
love i — see

put . write
send — become . _
start e teach
read — study

i1l the following blanks with proper words : (20%
@ I write_-  my hands.

@ Nobody can live
@ I toke care______ the baby.

—Air.
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A book is different_______a pen.

This book belongs___me.

Don't be afraid_—_____me.

1 got up—__ six o'clock every morning.
He______ here yesterday.

He is ag careful
You can not depend_______ him.

orrect the mistalkes in the following sentences : (20725)

1 writing a letter to my father.

Are you love your motherq

She will sees you to-morrow.

The game began in 3 o'clock,

Your brother is old than me.

1 have two hand and two foot,

Did you saw the men?

Either we or she are wrong.

1 drink many water.

He sits among you and her.

Answer the following guesitions : (2074)

@ When we part, what do we say ¢

& Have you written an English letter ¢

@ When did you come to Chiayi?

€@ How nunch money have you in your pocket ¢

€ How long have you learned Kuglish 7

Translation : (202%)

I love my country. 1 love our people. I want my country to be free
and independent. I want our people to be happy and prosperous. For my
country 1 will work and for our people, 1 will serve.

1 love peace, but 1 will gladly fight for the sake of right, of freecdom,
and of justice. I love my life, but 1 will gladly die for our people
and for the glory of my country.

HAERERBEREBR

Tut “+» in the parentheses if the statement is correct in fact, Put
“-m if the statement i incorrect in fact. 209
What is good to us may be bad to others...--.. .
The greenhouse is a house for men to live in,
Sandy soil dries again as soon as the rain has stopped,..-..-.- ¢
In writing & Dusiness letter we have to pul the iuside address
of the receiver in the right-hand margin of the letter........ (

~you.

206900930
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® To throw stones at frogs is not foolish cruel action, .ee-ereeenns ¢ )
@® A sound sleep during the night hag nothing to do with good

work the next dn,y...' ................................ ( )

© A man without a purposc is like a ship without 4 rudder....-. ¢
@ The sun rises in the west and sets in the east..corveriveciiinias ()
@ Cocks and heus often dig in the earth for worms,.voecieenienes )
M Overwork is bad, but overeating is still worse,«reciereriimaeirenn )
Write out the other two parts of the following verbs : 2025

Present Past Past participle Present Past Past participle
(1] came ® fell
O cut (7 ) left
.3 known © begin
0 kept O write
@ =it @ let

Rewrite the following sentences, changing the verbs in the active voice
to the passive, and those in passive to the active : 2025

Q@ You have finished the letter.

@ This question is answered by him and her.

@ 1 told them an interesting story.

@ This lesson has been tanght by my teacher,

Correct the errors : 202

O The merchant saw one whom had been there the day before.
© 1 did not sleep very good last night.

® The two balls hit against one another,

You must do neither this or that,

I found his smiling,

It is cold to-day than yesterday.

Mr. Brown, my teacher, who is a good scholar,

We do not feel the earth to move under us,

The Toys near the door speaks English fluently,

My brother is reading every day.

ill the blanks in the following sentences with suituble words : 202

ec6o0ede

=

Q@ The boy of 1 spoke to you yesterday has come,

@ 1 am tired writing letters to him.

&€ After she read the letter, she told the story to her son,
@ What is the matter him,

& (et a8 many stones _______you can,

® If there no soil, there would lic no plants,

© 1 wake _carly in the morning.
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& You must not judge of things from you saw ov heard of.
¢ Those ___ _ are Chinese must be loyal to China,
M This is the place he lives,

HAERFREBRB
TR VR -
@ office & smoke e fly @ noise & peace
® noble D jump & history @ village D holiday
T AR TR b
O H D R ® &k D B ®
® WA @ I © O K D #h
W BRFybEsiha
Air is necessary to our life,. Without air no one can live, Without
food and water men can live {or some duys, but without air nobody
cun live even for a few minutes,

VST SIS

@ Ilis mother__ _ _a kind woman,

& She  studied English for three years,

€ Agirl  reading in the classroom,

€ Last year my aunt____ 0 see us in sumuner,

& This story is__ by a famous writer,

® The man is standing on the platform is wy hrother,
% 'The sun in the east and in the west.

& This is the_ student in our class,

@ 1lc wants study very much,

@ Aboyandagil___~_ coming.

" XRERED B

I 'lranslate the following sentences into Chinese (HyJeiET4) :
@ Always try to do your share of the work and take your share of

1espOnSIDITItIeR.- oo esermers et D U N D)
& A Scout is polite to everybody, men and women, children ana Jld
people, rich and poor alike. ccereranianen Gerreisas veederunns pereesaerinnins D)
&€ The new movies may make present moving pictures seem
old-fughioned, ++-reevreee P P Cesberesteitareeatonreiiatenaaaen ( )
@ All of us want things we don’t have or wish to do things we
CAN'L Q0. creremtreiatietiiiiiiiatiitnceiiecataens ssesnasdesiacnisy rssevienraasnanas ( )
& Give your doctor, once you bave decided upon him your full
confidence and trust. -cccevimtrieiaiiiciiiiiiiiiireiiiiriiianiae tevmssaannins ( )

I Iixplain the following words (Eg#) :
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@ television set @ cod-liver oil @ eleetricity €3 education
® Sanlrancisco (@ vitamin @ passenger @ china cup
@ Pacific Ocean () theory i freedom B professor
® Dbirthday @ dentist @ saliva ® zero

@

fire extinguisher @ ambassador @ hospital @ geologist
Translate the following sentences into KEnglish (JQEEERR) :

@ -WHRBIFHK o ,
O —BELA  ERME > B> BT B > B

BRIFMEIS o

@ FEHBA  BEHRANLLIRA o
@ HORERS ) B o

-t

06060692060

© BRWEA BHLIHE o

Fill the Llanks (HReR)

He _—_many hools.

You________ a student.

My pen is better than.____

Mary looks..______the pictures.

..of the students has a name.
He is the greatest man__ 1 know.
The dog runs. the cut.

Yo sixteen years old.

He ig a student_________name i3 Jack,
One of the two is a student, the_________a merchant.

. Make sentences (GH]) :

- ) osssoonas @ belongto @ bymeansof & fondof @) inspiteof

M

L |

X

co8cRo

Turn the declarative sentences into interrogative (IFZEgafaifIseidiig)
O You look well. @ Your miud is filled with good thonghts.

@ 1 have finished my lesson. ;

@ IHe asks our teachers some guestions. ® She went home.
Correct the errors (Bi)

The boy play the Lall. @ He wents to school.

Both he and she is beautiful.

He as well as 1 am good friends.

The music sounds sweetly @ One of the boys have a boak.
Let me to speak a little. & They all laugh in the man.

He is taller than me. @ 1t is me who knock at the door.
Change voice (HEES)

@ Our English teacher teaches us English.

@ He wrote a letter. & A book is taken by me.

@ I thall see my brother. § I have finished my lessons.
Answers : (%)
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N

€ BShould a Scout smile under all difficulties ¢
© What do you say when you are introduced to someone 9
€@ Have you sisters and brothers 9
€) What colors can you see at sunset ¢
® What are you doing now
Conjugate the verbs (BWEEAEME) :
presentl past |past participle present) pnst past participle
Q buy . ® went
is
[} Degan ‘ abe{are
& tell @ did
O given o sung
& write (Mtieach

FEREXFHE

Translate the following into Chinese : 1025
Once an old Indian woman came to the castle and tallked about the
fountain of youth, She said it was on a lovely island that was far to
the north. The name of the island was Bimini.

The young man asked the woman questions. He thought of what
she had said, and at last he made up his mind to go and hunt for
this wonderful fouutain. The woman said she would show him the

way.
Translate the following into Lnglish : 1524

O WG RIPBIBHE o © WEXERBRE?

& fbREEERo O EMEL2 BB

® AL o

Change the following sentences from active voice into passive voice
and vice versa : 1525

@ The policeman caught a thief, & 1 shall write a composition,
@ The lion was killed by them.

€@ She has sent her sister to post the letter,

& The lesson is taught by Mr, Wang,

Correct the ervors in each of the following sentences : 20%

@ There are many lady in the room.

@ They like to play with we,

& Who broke the window ¢ It was him,
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He had come to see me yesterday.

Did you met her in the street last night

My younger sister will went to Tai-pei tomorrow,
She is more taller than 1.

Miss Chang and her elder sister love one another,
1 do not like swim,

Neither you nor he are my schoolmate,

Y Fill in each blank with a proper word, 2025

00069edQ

© Where you going ? (‘2 _____sweetly she sings !

€ This tree is bigger that.

1 I not speak English well,

® How days are there in a week ¢

@ The house built Dy them in 1950,

Q© The boy_ _ thrown a stone through the window,

@ 1 shall taking my breakfast when you come tomorrow
morning.

@ This is my brother__ is reading a newspaper.

V- Choose the right word in each case : 202

Have yon (some, any) paper ¢

(Ave, Were, 1s, Was) there many girls in the park yesterday
That (breaking, broken) glass is made in England,

We should (go, went, gone) to school on time.

You must study (hardly, hard)

To (who, whose, whom) did he speak ?

This is the boy (who, whose, whom) the teacher pumished.
The meeting was held (in, on, at) June.

Each of them (likes, like, liked) to smoke,

He drank too (many, much) wine.

HIEBFE—PR

I. Make sentence with each of the following phrases: (%)) 2025
@ proud of @ equipped with @ rich in
€ in company with & interested in
I. Fill the following blanks with appropriate words: (HRHFS) 2095
O I am satisfied_______your answer.
@ Totellalieis ___ my dignity.
© They are apt_______ make mistakes in their compositions.
w7 € " Na one i8 familiar the stranger.
" @) We have to obey our parenis_____ a murmur.
r cqmc? the errors in the following sentences: (gf$l) . 20%

8e0VelCRCe
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The student answered me in dignity.
My mother prevented me to go.
Tast Monday a fire broke in her hewe.
Her younger brother jumped in the river.
Our teacher told us not give up the game.
IV Parse the following sentences: (4PHZ%D) 202
& A diligent student will never be idle: -
@ We always go to school in the morning. -
@ Kach boy has his responsibility. -
@ English is important to every boy or girl.

POB®O

Read the following two paragraphs eavefully and fill a right number
in each of the given brackets.  (FEBITFIMIEESR I IENE BT
AT 2025

Get acquainted with the doctor you have decided upon. The most
direet way is t0 make an appointment, perhaps for a routine check-up,
and at this time ask him about his treining and experience, his spe-
cialty, if any. his teaching connections, whether he is on the staff of
a hospital. Feel free to ask him, too, about his rees and whether he
makes night calls.
A. We can get acquainted with the doctor...... ( )

@ Dy inviting him to see a movie.

© by sending a present to his wife.

@ by making an appointment with him.

@ _ by writing a letter to him.
B. We feel free to ask him about.ccorivevininiin. ( )

€ his riches. @ his children. € his patients. @ his fees.

A scout does not run away or call for help when aceident occurs.
If a person is cut Le knows how to stop the flow of blood and gently
aud carefally bind up the wound.

-

A. When accident occurs a scout willi-reeeessneen. ( )
" @ run for his own life. & call loudly for help.

€& lie down quietly. @ uot yun away or call for help.
B. If a person ig cub hie knows--oooeorieniiniienenen { )

@ how to tell him a siory. 6 how to clean the blood stains.
& Low to call for help. € low to stop the flow of blood.

YEEGEDD

i TFill the blanks below (#gi=Fy) : 209
@ Dinner is going to be__ fifteen minutes seven.
@ I go the street to meet my friend.
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If it~ rain, 1 conld not go.

Mary is an American, she speuks very goed Chinese.
The woman_ is with her son is my awnt. '

I do not know he will write a letter____ __ not.
His father is a soldier judge.

My father prevented me leaving.
He bas been robbed both his money and his clothes.
Can you point out the difference meaning thege
two phrases 9
I Correct the errors below (gkf) :20%
Flour is made of wheat.
I am surprised with your rude conduct.
1 afraid of meeting your stern uncle.
We do not feel the earth to move under us.
She looks kindly and beautifully.
Your story cannot scareeiy be tiue.
To-dny is a coldest day of the year,
Ofr 100m is bigeer and more cleaner than your.
The hen protects his young under his wings.
Has your book fourd?
H Underline the correct words in the following parentheses,
(FETHHEI PR FE-RED 2 202
Every boy and girl (love, loves) te ride bicycle.
John or James (has, have) been asked to spesk a few words.
This book (must, Las to) be a good one for many students are
buying it.
She (set, sat) her baby in the cradle.
He is (luying, lying) under the tree,
He speuds (much, many) time on his lessons.
Chang went to market (on, by) foot,
I cannot wear this ring because it is (very, too) small for my finger.
Our teacher sent words to everybody, especially you and (I, me).
My grandn:other is very old but she has good (teeth, tooth),
N Change the voice of the tollowmg— lentenccs from active to passive.
(ﬁTﬁﬂﬁﬁﬂi ) et SRUEERS
@ They began the work ye‘lt(’lddy
@ I paid him some money for his service.
€@ They are building a new house.
@ 1 have worn this uniform for years,
® She will sing to to us some new songs.
Y Rewrite the following sentences in indirect form. (¥ TFFISAUTHERA

6806023209

e @6@@9@0@@0

@eowe@a ®
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PEFER) ¢ 1095

@ He said to me, “You are a great friend of mine .”

@ She says, “I am not feeling well today.”

@ «Ilas your brother came ? ” he asked me.

@ “Great hopes make great men” said our teacher.

They replied, « We may not need your help.”

Translate the following English into Chinese and vice versa (FZE) 207

@ She sent him to school, where he astonished everyone by his
knowledge, Ile became so famous that he was appointed to a
public office at the age of seventeen. When his mother died, a
few years later, he left his office and went into mourning for
three years at his mother’s tombside.

© EREDH —ar MR o @ 7 RAREE?

O KEphaEET o ©  DUhE AR T o

AXERMXTFHRER

The following sentences are correct in grammar, but incorrect in
meaning. Write “yes” or “no” in the Llank at the beginning of each
sentence according to its meaning.

The first month of the year is winter.

A blind man can see but cannot walk well.

You should brush your teeth after every meal.

Some day he will swim in the window.

Modern people are accustonmed to write on a piece of wood.
The only reason I go to school every day is that 1 want
to make friends.

If a girl is married to your brother, you should call-her
your sister-in-law.

She has studied so hard that she succeeds.

I am so glad because my mother has been sick.

If he should fuil this time, he will try next year,

3

|
|

8O O 2990069

Strike out the incorrect word in each parenthesis.

His eldest son is (beautiful, handsome).

(May, Can) I sit down, sir?

Your dog is black but (iny, mine) is white.

The poor little girl (has been, had been) hungry for three days.
The old man (is lying, is lain) flat on the ground.

She is the (oldest, eldest) student in the class.

China has made great progress in (her, his) industry.

Every morning 1 hear her (to sing, sing) sweetly.

0909CS®Q
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@ The boy (whom, who) you met is called Yang Ching.
@ He knows his English lessons very (well, good).

Il in the blanks with appropriate word.

We prevent him smoking.

He is loyal his country.

TPut your coat on, you will catch cold.

1 like this book, because it is .

She born in Taiwan in 1940.

Children are fond of playing with fire.

This room is larger yours,

You may shake -hands with your friend you are introduced.
The last month of the year is .

How could you do if your house fire?

500696300060

Change the underlined words to personal pronouns.

@ De you have a bell on your dcor?

@ B8he is worried about her lessons.

63- The boy was del} gh*ed with these paper boxes.

& My sister laughed 4t me, because my face was dirty.

® The room is filled with chairs ard desks.

® fOU__o-u—glit to speak the truth.

© His brother is a dentist. -

@ This letter 1eminds me of my mother.

@ The table is covered with a large picce of paper.

@ Why didn’t you wait for your younger son?

Arrange the following words in correct order and write them in sentence
form.

© the the of of is one fly men enemy most dangerous,

@ will pen me you thai give please.

© takes off always Jady man a a polite his hat to.

€@ are are because brothers much they very ajike they.

a king wealth power time once a n upon and who nhad great there

was,

CEESRIEREER

True-False Test :

Tn the following seutences druw a eircle around “yes” if you think it
is right and draw a cirele around “no” if you think it is wrong. (/]
TR e 5
FRAS FARRLS BUERTY » BEAE “yos” (RMIREH M > SRRESEERY
BRfE “no” [ EEE— U > Hiln :
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Dr. Sun Yat-sen is the father of The Chinese Republic-:s.- (yes)ess--no
Mayor Ye Tin Gwei is the principal of Tai~Nan Provincial Girls

Schoo] cecvssesenerscnaans eravssearetecsestanre detartrttatiieiiense i aaneanas S YeReereen (no)
© Confucius spent his long life of seventy-three years in teaching
and in collecting the old writings of the nation. «eerevenee.. yes: s 10

© The most important thing taught by Confucius was the duty of
children to love and obey their parents when alive, and to honor

and WOI‘Ship them after death, ... eretsensusensasincerntenceronnay +2 Y€8eerren0
To see what ig right and not to do it, i3 to e & coward.ssseeerorerenn

Happiness depends on how much meney you have. «e-.ecesy@g.eenano
Clean people spit on the floor because the spit dries like powder
and enter human ]ungs ............ trerveraneiaaias trereenensanany .

Your body needs not rest as mush ag it needs food,.s-..-..-

China is one of the oldest and largest countries, not ounly in
Asia but algo in the world. secreeen. sersreereteersveanse [ yeSeso--110
The five senses are seeing, heaing, tasting, feeling and smelling. -

If a sportsman wins or if he loses, he is always & gentleman......
........................................... R St LI ALY I R LR TTRLETN 4° G ALLETES o ¥s)
It takes about twenty sugar-canes to make one pound of white
BUZAT, crenees Peretcancatanes sesvesureens eresrstiasiisiiasa Sernsrresisicntaniae YCSeees 0
Replace each dash by one of the following phrases : (fg/4ipd ,;};]

230 ¥ET AT REIHUT SR — i A 35 iEas o

e & o0 09 390 ©

® fond of @ instead of (@ great many @ so that (B a pair of
@ Our teacher has read ___ books,

& Lvery bird has wings,

€ letters are sent by airplanes _ trains.

@ Weeat __we may live,

& Heis very  reading.

Correct the errors in the following sentences, if there is any. (G
53§50y FEFFIN A PR E SRR » WG BUEE K o

@) The Chinese soldiers fights hravely. ..... ettt aanans D)
2] Hope 18 mother of SuCCEeSS.  eevereens Eetrrertaertraeeeriateeereaanianere {
@ Every student should e a patiiot. «ooeererroviviiiieieiiioiiiiiiins )
@ I bought “The ABC Grammar” under The World Book

Company. ............ eoneecens He e btannaeatersauniatet ittt iiretisesaatieraretatiys )
@ My grandfather love me and I loves him. -.... TIPS ¢ )

Select the following prepositions and fill in each parenthesis of the

sentences with an appropriate one. (R/NEIPUZ » 2143 ) S8/ FHI i
PN ATEIRAS IIRRN o
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toward, of, at, across, in, between, from,

The sun rises ( ) six in the morning.

The farmer grows many peach trees ( Yy his garden,
The kind girl gives money ( ) the poor,

The boat sailed ( ) the sea.

Dr, Sun Yat-sen is the father ( ) The Chinese Republic.

Translate the following Knglish words and phrases iito Chinese and

vice versa. (f§:—7 2 5= HF i FFIAHIHJE L 1 BRR 3L o -1+
FHHF RS o

€ honesty 8 policy ® TlLe Book of History
€3 The Book of Change #% The Book of Odes

® The Spring and Autumn Annals & The Book of Rites
© conduct @ memory ) nation N IERE

® FRRGKE D T O Wil 0 ABKRE
© W O HiRER  ®ER © AR

@ Hilt

HA TG SR TR RER

Write the Chinese meunings of these words : (2025)

O air @ Dusiness & chemistry O city
& daughter @® dictionary » education @) preat
@ history { newspaper
¥ill the Llanks with relative pronouus: (2025)
€ _ the gods love die young,

@ e told _ he knew.

@ The girl was ill has recovered.

© He lost the box of clothes 1 brought.

& Is this the picture_ you will give me ¢

WETFVIF AR L (2028)

O hEREER! @ TEpEREoe @ RMWBRUET o

Q ! WALUNINE? & ATk

Correct the following sentences: (2075

@ I was bown in July 4th, 1937, ® You are ag tall ag me,
€ You two should help each other, © 1 drink many water,
& Is the wind blow now ?

HETHIEME (2022)

©® What time is it now? © Are you a student
© What color is the sky?

© How long have you studied Liuglish? & Are yon busy to-day ?
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T Correct
You and I am good friends.

the ving sentences:
the following sentences

You are taller than me.

One of these hooks aie mine.

She looks pleagsntly.
He did not came here yesterday.
This is the best of the two boys.

2]
O
®
(=)
(0]
in each of the following blanks with & proper word:
school every moraing.

we study.

visit our friends.

reading.
the carth.

I saw yesterday.

is very interesting.
@ They take lunch

I done this work myself.
We ought work hard.

BEither you or he are a liarn
Let me to speak a little.

093839

Fill
I go
This is the place
We come here

I am fond _
We all live

Thig is the man
She has a book
1 sent a doctor.
Put it the iable.
Change the following sentences from the active voice to the passive
voice and vice versa.

¢ He asked me a question.
& She is writing a letter.

noon.

8000900

€ A bixd is seen by me.
@ I have bonght a peucil.

Trauslate the following sentences into Chinese:

@ e is a very learnéd man. @ You are a man of millions."
€3 Men eat to live, but do not live to eat.

@ China is our native land.

& Reading newspapers everyday can increase one’s common kuowledge.
I'ranslate the following Chinese into English:

1 I R i A PN S VRIS T
€ LR AR o QWIS PRl o
0 {hdfdly > IELES TR 0
Hixmigp B
Correct the following errors: (242)

@ IHe has tolds them a story.

@ She will go to the city yesterday.
We do not feel the earth to move
The children, play their ganies, made much noise.
e can neither read or write.

The little girl who you see is my sister.

under us.

&
LL
(5]
®
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o
©

My table’s leg is broken.
Myself saw the thief enter.

Fill the following blanks: (1695

@

2]
®
1]
®
@
o
=
Ch

D09PODDQ

Do you know __ he is going? (where, what, whnich, that)
This man is poor ___ he is honest. (as, that, but, till)

] shall remain you come. (and, till, for, nor)

We have no water _ . (drink, drinking, to drink, drank)

There twenty students in our class. (is, am, shall be, are)
Johu is of the three. (stronger, strongest, the strongest,
strong)

e had to choose death and dishonour. (among, under,
with, between)

These are those coats. (givls, girl’s, girls’, girl’)

ange each present tense in these sentences to the past tense : (1627

Thus: John is a very active boy. John was a very active boy.
I am sure that hLe is absent.

It is an interesting book, but I can not read it.

The man nods his head and doesn’t say a word.

They fignt a good fight.

Mrs. A tells her son not to be afraid.

The sky is as dark as it can be.

1 open the window that I may see the moon.

You tell me to go home as quickly as possible because it is getting
late, and 1 think it will be wise to follow your advice instead of
delaying any longer. )

Change the following quotations from direct into indirect, and vice
versa : (82

0
@
3/
1]

Thus: He says, “1 am wrong.” He says that he is wrong.
He said, * It will rain.™

My friend wrote me that he was coming to see me.

He said, «“ Come in.”

He told me that failure is the mother ot success.

Translation : (3625)

(1]

L2
®
0
®

At first he seemed to find English very difficult, but later he
made very good progress.

The teacher told us io look as the blackboard and not at our books.
The doctor says that he must lie down and rest for an honr every
afternoon.

You will have to pay more attention in class if you wish to get a
better mark.

RERIRINE T e BB T O F SR » #Mel A8 Lt o
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L\

D WEEARMARATEM - © BTN T o
BASHLFRE

I Vocabulary:
(a) Translate the following words into Knglish: (102)
O =T D Nk ® M| B iR B i
O i D ZE @ AMFTR D W @ W
(L) Tianslate the following words into Chinese : (1024
@ learn & advantage @ department ¥ submarine
® stroll @ meal @ ignorant @ different
@ remember () again
¥ Fill the following blanks with appropriate words : (109
1 am fond playing tennis.
Both you he are Chinese.
The young girl ie taller than _ .
They all laughed the poor boy, when he ran after his hat.
1 wonder old he is.
You ought study diligently.
The kind man gave his seat to the old woman.
The cat runs than the mouse.
I cat the apple instead __ the orange.
His family depends ___ him for support.
‘orrect the miistakes in the following sentences: (1024)
Yowr friend don’t know that man.
We have study kKnglish for three years.
1 heard him to talk with his father.
The letter wrote in red ink.
You must bear these wise sayings a* your mind.
He is a greatest scholar who ever lived.
We are Chineses and should love each other.
Have yon some money 9 @© Bhe go to school everyday.
1 bru h tooth every morning
IV Tell the uses of these words, phrases, and clauses (underlincd) in the
following sentences : (202
Ex. One of the boys has a book.
(ome +eorrreeeins BubJect) (book ............ obj(:(:t)
My f'xther was the oldest man in the town.
The young man swam across ss the river.
The man who makes clothes is a tailor.
The roof of this houge is made of aluniuwm,

@@@6@@@@0 gEO0090090000Q

=T )
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® To love our enemy is & great teaching of Jesus Christ.
® These apples are yours and those are mine,

@ Bmiling babies win hearts long hardened by life's toil.
@ I began to ride my bicycle, ’

@ Tlhe playing ehildren made mach noiso.

@ After thinking the matter over; 1 gave him sone monay.
‘Translate the following sentences in Knglish 1 (202)

O BIEEERMUEREK S REEERMEAY

© HERPEFH4BSo - Q ABLASEAES o

® Bk ZlTAC
Answer the following questions : (2027)
@ Where do you come from ¢
& How many seasons are there in a year?
® Do you speak English or Chinese?
@ How long have you been in Taiwan?

HI B LR EE

Correct the following with pen, ¢rossing out the wrong word when
two are given: (40 marks)

?éGOQ e3¢

@ 1 wish she (was, were,) here.
© The Loy or the girl (come, comes,) out.
He hag (luid, Inin) it down.
The bird has (Inoke, broken) its wing.
Both tried, but neither of them (have, has) succecded.
Shakespeare is the grestest pect (which, that) England has cwer
-had.
Y approve (him, his) doing it.
He feels (bad, badly) about.
It looks (good, well) to me.
1 (shall, will) go in spite of the rain.
t into Chinese : (30 marks).

o
~

Probably no story is better-known all over the world thau thiat
of Robinson Crusoe. It is just as interesting to the Chinése boy
or girl as it s to the English boy or girl. Not only childgen
but also grown-up people love to hear or to read the adventures
of the man wha spent twenty-thiee years quite alone onan island.
b) The greater part of the story tells us how Crusoe found shelfer
and food, how he built his “Castle”, how he made his fhrniture”
end clothes, and how le taught himself many trades and became
expeit in doing all serts of uset'ul things.
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X Fill each blank with an appropriate word. (30 marks)

We arrived_______the theater ten minutes early.

Our plans for tomorrow. . on the .weather.

1 dont agree_____him on that.

The best government is the government___. ... the people

the people_______the people.

Although they were outlaws and robbers, they were.
bad men.

1 spend a lot time it.

You knew. you done wrong.

1 going to post~office.

We must fight_ communist.

AR R R

A. If the statement is correct, put “(O ” in the parenthesés. If it is
- ineorrect put “x . (102

cruel

0008 9 OB0Q

O We call the small building a gkyseraper...co-ceroorerereenrrins )
@ “Exit” means the way in an “Entrance” means the way out.--- ()
@ A botanical garden has a large collection of animalgee-.-cceut D)
€ The greenhouse is a house for men to live inw...oooreerenninenes )
® The short hand of a clock shows the minutes and the long

hand Shows the hourS. teceereereersertroacunivctansans ensersinsrereronan <)
@ By telescopes, we can see the stars that are many millions

of miles BWAareotsseseeseseneoreeiintuiiniiintsiseannitiitattiba e esanesse ¢ )
© Motion pictures move very rapidly on the screen. --eccoroeeveeee )
Q The san comes up in the morning. J O S )
@ A quarter of an hour is one fourth of an hour. «caceererrecnies )
@ We can make an announcement by a loudspeaker. «coccoeveeenes ')

B. Correct the errors. (2077)
@ How many finger have you? @ The sun go down in the evening.
® I wish I can fly. © There are many sheeps.
® It is a object. ® He is a honest man.
@ They waited to sunset- ¢ There is no guarrel among you and me.
¢ He will join us since tomorrow.
@ He is my brother whom is a good boy.

C. Fill in the blanks with appropriate words (102

O I am very fond reading.
© The cup is full water.
@ Will you please read these words one one?

© You should do according the rules.
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Justead working, he plays all day.

®

@ This pencil differs that.

© 1 cannot agree your proposal.

© They set out in search the lost child.

@ They struggled vain.

@ In regard this business, I will tell you later.

Choose the right word in the parentheses in the following sentences: 102

- @ They had plenty (of, in) food. @ He laughs (at, to) me.

@® The war began (iny, on) 1939.
@ Chinese is different (from, as) English in the way of wrltmg
® LEvery school (have, has) a Sports Day.

. @Give the past and past participle verbs: (2025)

Present  Past  Dast participle  Present  Past  Past participle

study know
. do- give
see lie
read put
beconme send

Give the comparative and superlative degree of the following words:
positive comparative superlative positive compamtxve 1uper]atwe 10%

small close

happy good

little ' hot

big useful

bad many

Give the plurals of the féllowing mnouns: (1022

friend grass womarn body - mouse foot
" plano monarch handkerchief ~ birthday ‘herself

Change the following from the active voice into the passive voice: 1025
O They see a dog: © 1 wrote aletter. @ He will teach me.
Q@ He has tanght us. @ I told her a story.

HEXRBREPE

(a) Put + in ( ) after each of the correct word and — in ( )
after each of the incorrect woid: 1025

@ cann’t ( ) @ gril ) €@ tomorow ( )

© Dbelieve ( ) ® robed ( ) ® haveing ( )

© skilltal ( ) Q@ freind ( ) @ Dbeantiful ( )
@ neighbour( ) :
(b) G@ive the opposite of each of the following words: - .10%
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N

v

¢ within @ lazy & never O slowly
& open ® sell @ early @ wife
@ heio (® up- :
(a) Give the comparative and the superlative of: 525
Q happy . @
@ difficult . © od ——
€ splendid e
(b) Give the past and the past participle of: 8oz
o et @ mee
® know © come_ o
& lose .
{c) Give the plural of: : 52g
O tooth _ @ city - @ half
@ piano _ ® box .
(a) Change the voice of the following verbs: 1825

© A car ran over the child.

€@ The questions are answered by him and me.

€& This book was written by me.

© He has caught & fish.

& We shall learn a new lesson.

(b) Combine the following pairs of sentences into simple ones by
means of relative pronouns: 159
@ I bave lost the watchk. 1 hought the watch yestérdny.
@ That is the man. I met him yesterday

@ He brings a book. The. book beiongs to me,

© The book is yours. The bogk is on the desk.

e John is a boy. He works hard. .
Courect .the following mentences:. ' 202
. He ig mjne friend, faithful and Just 1o 1

His sipter invited we to visit hers.

Who do yotf geg in the sebogl? -

1 am read just now.

Huave you ever saw alionp .- ‘

We have study English for two years.

There was some boys in the garden.

Don't jump after eat.

You are powerfuler than he.

Let him to eome.

Tnrn the following sentences into English. 1525

O fbRE—skE - , @ PMEAMET

© WERRTEgE (street) SRS O MARLEREY o

@9@@6@@@&)@
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® FEIh > HEMTERER
Construct five sentences in which cach of the following words or phrases
v useds :

© lovkat. @ afraid of @ bought ¢y read & many

KERELFPER

Tell the different meaniungs of each of the folowing words,

(A. in English. B. in Chinese)

a. @) HF O H#E ®© IR O KX ® fEEE
O & @ HIE © HIT O W Q RKE

b.§p mosquito @ freedom & politeness € 8spoon
® handsome @ China @ examination @ junior middle school
@ telephone @ birthday '

Answer the following questions :

@ When do you get up in the morning

€© What is the name of your school ¥

© How many years have you learned English 9

€ Do we Chinese drink tea with sugar and milk in it 9

Correct the errors in the following sentences : '

@ He give me two box of candy
@ We all live in the earth, @ He tell me a story.
@ He have five books, ® We have not water drink,
@® Dlease come and play with we. @ 1 not like him.
@ You and I am students. @ Oan ] lLelp you?
@ Have you got some paper 7
. Fill in the blanks :
@ Work _ yon work, phvw _ . you play.
© We should pay atteution_ world affairs.
& The girl is kind diligent.
©® We write_  our hands.
® He neither drinks______ sraokes.
® We a good time yesterday.
© Is your father home 9
@ 1f you feel __ go for a walk. O I__ a. Chinese.
@

than anything else.
<Translate five sentences into English in the fellowing :
v LIRS 7 O WREELFBIHNe © RE-BFEEo

1 like history

@ BIHELREA > BTARTTRPBES O RUBEFRE
- O WRHEER O PEHEmEY © Ko

O —EHHEEXT O WhETEREET?
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HARRRRMRBL

Give the meaning of the English words in Chinese and vice versa :

(FP) (202%)
Feiph i 5C

Q@ com @ expect @ usually @ temperature
® elephant @® Dbirthday © garden @ farmer
¢ breathe @ weather D - A ® B 2
® it O @ & ® ITEFE © EHEDY
0 K 7 ® ik % ® E¥Y I B

Blanks (8§#8) (20%)

O _he come to school every day ?

@ Heis best student in our class,

@ Iam than you, © Bhe sings .
& This letter has been by me,

® 1__ not afraid of the English Examination,

© She loved him as much he was worthy.

@ He asking for your help.

@ I know what you want do.

@ There was & merchant owned a store.

Correct the errors : (k@) (20%)

When the bell ring the pupils go into the classroom,
This are not a suitable answer.

I have haring nothing from him since his departure.
Since you say so, it must to be true.

Many things are making of silk.

1 meet her in the class yesterday.

1 give the book to he,

It may be a egg of some kinds,

Sheep are very use animals,

Come here quick.

Make sentences with each of the following : &£ (202%)
O Dbetter than O rnm @ Dbetween
© by and by - & not only......but :

Translate into Chinese : (RFX) (0%)

Tlants need rain. They need sunlight and they also need soil. There
are many kinds of soil, One kind soil is sticky in wet weather. That
kind soil is called clay. Another kind of soil is nearly all sand, Rain
soon runs through that kind of soil. Soil always contains rotted leaves
and bits of dicayed plants,

6600030606 ¢Q
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I

I

Y

HXfEEDP B

Translate the following words.
A. into Chinese, (10%)
O jar @ mosquito @ Dbicycle © hesalth ® harbour
B. into English (109) :
O X O WA © FH O T © &
Fill each of the following blanks with the suitable one of the given
words; at, in, on, then, than, to, with, without. (1095)
© She wants you come.
© He is interested this book.
®© 1 quite agree him,
© 1 like you better he does.
& All the stndents look the black board.
Correct the mistakes in the following sentences. (1025)
Tet him goes!
The men who stand in the street is my brother.
What you are doing?
Why do you came late last night?
He study hard.

Change each of the following sentences from Direct into Indirect

Speech. (20¢z)

@ Judoh said, “what shall we gain if we kill our brother?.”

© She said, I am a hen.” € John says, “I hate him.”

© She said, «I love him as much as I do myself.”

® Mary said, I was there.”

Translate the following sentences into Chinese (20%5)

@ The man went on day after day, week after week, saying nothing
but the same words.

@ Airplanes today are much better than that firat one, but even today
most planes are made more or less like it.

PCDBO

Translate the followiug sentences into English (2027)
O [E2EMmPRRESEAYE o O  {RHBRAT B o
O ROEMBT=EELo 0 RIEZHRABo

HEZEFPR

Supply each blank with the correct form of the verb. (20%)
O Mary always (walk) t0 SChOOL -eovvreerrmiiniiiiniciniininnns )
© Tom (come) here yesterday. «ooco emeuseeeenes FOTRTR ')

9 The sun (shine) JUQW. «reeetvesesencrusrsssonnensscasssasncosansres ¢ )
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0 She (Visit) me Many tENes. «oweees e (D
& Tather (tell) vs the same s‘ory this morning...c.co.-en. D)
® His mother said that he (leave) there the day befure
yesterday. ........................................................................ ¢ )
6 1 . (s]“p) when she eante. serveveennee e v eseieest e re e e ( )
¢ Both Tom and Jane (bs) here tomMOITOW.  crrreivieinnns )
@® By this time next week, he (forget) all about it....... )
@ She_ (Yive) in Taitung since 1948, .cccoiiinaiinniin e ()
Fill the bluds with suiteble relative pronouns: (1075
@ This is the boy T IIOWar e oo eernrevraneneeitseeeit e siniaeanaaes &)
¢ 1 don’t understand NE BAFS. orermeneeiiiriii ()
@ This is the ma,nﬁ______built the ROUSE. +verrrerrreisiriiiasiaionion. ¢ )
1) This is not the hook T wantee cioieiiiiiinnes renen S T TIT S
& The pencil ____point was broken has been re-sharpened.... ( b}

Change the verbs cither from the active to tha passive or from the

passive to the active.: (1025)
A good Loy is Toved by everybody.
Most of her rriends laughed at her,
1 have {iuished the letter.
She is writing a letter.

@
@
&
&

@ e will do the work.

Correct the errors in the following sentences: (1075)

@@@@6@@@@@

Tut «)” in the parentheses if the statcment is coxrect in fact. Put % x”

Eng‘ shis a easy ]r\,uguam, ................................................ ¢
Does Le Tikes this BOoK? oot (
She is my older SISECT. «reeesimreriirenin e, e (
She has a friend whom 18 a teacher. «vovevveniniiiiiiinn, S
T.ast week Le tellsa me a BEOTY. «vrvererrieri e ¢
The man who came to sec us yesterday dead. -o-vevveevmiiennnniss (
Theie is once upon a time a man in the hill. -e-eeorreiveniannn, (
Can you to ride a bicyele? «ereevvirrvmmnniiii (
The boy has Dbreaking a eup. «voeeeimiersenoicieiinnniniinennne, (
1 wrota my ndme on the book’s (OVGI‘ ........... ettt erraeaeas (

if the statement i8 not correct in fact.: (1025)

08y Q90O

A quarter of an hour is one fourth of an hour. .o-vev.... -
All the players in a foothall game may use their hands..... (
Cotton grows in cold countries, where no rain falls. «-ceeven... (
A sonnd sleep- during the night has nothing te do with good

work the next d,}y ...... o bieas e e b ee b be et et e ree e arrane sdeees (
Passengers buy their tickets from the booking office............ (
“(xen” is the plural of “ex”..cveeviiiiiiiiii (

L N N N A N N
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D A trawsitive verb may Lave two ohjeets.ccveiii. )
@ A leap year has three hundred and sixty-six days. coocovieeinnnis )
@ The moon is much nearer to us than tle sum. «--oroeerveiciininn ')
(@ When some parts of the earth are facing the sun, they will
. have warm weathdr. «.ve=.n 4ot Re e N tes e es b s aresriareataseesnatnasnans ¢ )
W Change the nouns in the parentheses from the singular inlo the plural:
(5%)

0 She has three new (Watch) ................................................ )
@ His (tooth) are not clean, «+evvvevvereiiniinin i ¢ b}
€ We caunght two (thief) Iast night..coooveriinnrnininnn ¢y
© A tree has many green (leaf). «ovrvveiniienin, N ')
€ There are many (sheep) in the field. «vrerreerreicciiiiin, )

W Give the feminine gemder of the following masculine nouns.: (5%
@ gentleman..-- -(C ) & wuncle ()
[3] he—goqt,.., ......... e () ) Ox e ()
® father—in-law «-ooeeerennnn r

¥ Choose the correct form in the parentheses below.: (5%
@ How do you knew (they, them, their) are Ammrieans? ..-.-..: '
&© The boy (who, whose whom) was lazy was punished......- e )
€ I am much (good, better, best) than yesterday. «owe.-e ()
@ It is right (telling, to tell, told) the truth. --oeooorrcrvrniiennns € )
& 1 (studied, study, was studying) last night when yeu callﬁ,d ()

K Matech the words in column B with the meanings that ave given in

eolumn A.: (10%)
Example: A

alike

once

dBC

B
to ook at
in the same form
once upon a time

finally (
Jjourney (
much (
Jook after (
shore (
tiny (
watch (
swect (C
in vain (
ocean (

X Translate the following sentences into English.:

20900209

without auny effect

candy

to take care of

pay attention to

at last

sea

a deal of

small

edge of land near a sea or an ocean
travel from one place to another

(1525)



74 ZEXPHARA

W

O WHEARIDEREET o O WREERERE.
© MR o O BEFEMH o
© PMEEKEET |
EXBR2Dh R
Make five sentences by using the following phrases :
O fond of @ in the morning @ a great deal
@ not only-...e-but also @ like....--best
Correct the following sentences :
1 is a student, © She give he a pen,

© He have two brother, € There is many pupils in this room,
® 1 will be very glad if you come to see me,
o
(<)

e

The letter is wrote by she sister. @ He study very hard.
If 1 am you, I would not go.

¢ Have you finish you lesson 9 @ He is much good than I,
Fill in the blanks with appropriate words :

O 1 wake early in the morning,

© He ran as fast he could, ® Itis old mouse,
© 1 cannot agree him,

® This garden is full trees,

Tranalation,

@ Translate the following sentences into English :
© RE-ETRIERE @ RE-AHE > RIEREWE o
® MR (PIKRAIET) @ PVERIEER—EAEA D
® RERAER o

© Translate the following paragraph into Chinese :

1 am very glad to accept your kind invitation to dinner at

Shanghai Restaurant, next Tuesday at 7 o'clock. 1 am looking
forward to see you,
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¥ & A @ B
G R AL T3
I (a) @ (spring) @ summer § avtumn @y winter
(b) @ (January) @ February @ March 3 April
S My @ June o July @ Angust
@ September (@ October ) November B December
(c) @ (Sunday) @ Mouday & Tuesday @ Wednesday
& Thursday @ Friday @ Saturday
I @ day @ Dbelow € much €» healthy & hate
® thin D dislikes @ humble @ dead {® ander
O cell @ fare & pail @ lessen & [lower
® sum @ due @ rite & yprey @ meet
I O (I am) astudent. @ (In a few years, he becomes) very rich.
@ (They proved) what he had done was guilty.
© (The silk feels) smooth. & (He got) accustomed to early rising.
® (You look) pale. @ (The moeat smells) delicious.
, @ (Sugar tastes) sweet. @ (Things do not stay) for a moment.
@ (The street boys go) out [ighing.
§ O =EK @ T
@ told BLEF tell O called §id:
® Tk @ robbed EXE robbed me of
@ the place i[5 the place whore @ Z#rEKS Wheve are you going 9
@ is it! BiF it is! { lived before there B¢[E lived there before
Y @ =2 Itis difficult to speak Knglish.
b. It is healthy to rise early.
® a. How beautiful she is! b. How foolish he is!
© a. My father gave me a watch,
b. Our teacher told us an interesting story.
@ A. a. Although he is a middle school student, he can speak hnghsh

very well.
b. Although he is poor, he is alwnys honest.
B. a. He is old, but he is strong.

b. What he says is all very well, but I have my own views.
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5.

has travelled ® has worked @® was
was writing @ was going.
She is not busy. & John did not go to Japan.

He does not have any money.

John does not shut the window.

This room is not large, @ He does not live by himself,
She does not sing well. @ She does nct cur nerself.
James can not speak French well,

Bhe does not go to school every day.

How many desks have you in your house ¢

In Taiwan some villages have no electric lights.

The other day, my uncle gave a handsome present to my youngest
brother.

Secretary Dulles received a hearty welcome in Taiwan,

He shook hands with me.

S TRHEBEXFRE

short friend late come success dry lose danger forget same

gave given ran run

sang sung drank  drunk

thanked thanked ~ caught caught

sat sat taught taught

met met 8w seen

boys countries houses flies roofs mice leaves sheep pianos teeth
smaller  smallest larger largest

happier  happiest fatter fattest

hotter hottest better best

later latest more  most

more useless, most useless more important, most important
@ every 2ki3 Every O me I 1

&€& an |3 a @ fond of X3 are fond of
& Dbeautiful S more beautiful

® many tXES much © Whom HE Who

@ they's B4Z their @ see WE saw

( one another ZXfF each other (FF: @AM each other)
Hke  Beh Bl FH iz

earth doctor hunger harvest sugar—cane

@ tennis @ love @ Spring ¢ drink @ Dbuys

@ Sunday @ country @ learn @® discoverad (O shines
@ An apple is eaten by him. @ The man saw the child.
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© The pieture was painted by me. €) You open the window.
@ The rat is killed by the cat.
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00 80 &0 0 &0 00 92 00 00 03
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hand #£5 hands
rise BXES rises
many g&E5 much
go T goes
am 55 are
What is your name 9 Where is my book ¢

We can see two doors 1 stand behind the desk.
They are going to America by plane.

Whose ®© who @ are QO do

The sun is much bigger than the moon.

The second term of this year has begun.

Every day 1 go to school at half past seven in the morning.
Every day 1 go to Taipei from Keelung by train,

A EEP B

Will John come to school to~morrow ¢

Is February the second month of the year 9

Has he gone out of town?q

Did the boy leave his book at home ?

Did it take them a long time to finish the workq

John does not study very hard.

They do not need a fan in their room.

She did not give him the book.

We did not go to the movies last night.

1 did not find my copy-book.

The tiger was killed by the hunter.

We were told the story by the teacher.

The report has juss been finished by him.

The new students are being examined by them now.

The soldiers were being looked at by the boys.

arrived @ Which @ at €@ in ® of
were © What Q a o is @ is
1 afraid of B3 I am afraid of @ have gKLT are

1 very glad 8¢5 1 am very glad

25 He does not go to-day.

before giES after
by 8kES on

any gfS some

a BIS an

we BKES us

CCeaBeD
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PODEOO0HD

GO OO0 CIOCDOOQDY COOICO0ICHIC

Z%EXES Where are you going? 1 am geing home.

are g3 is @ do S5 will Q@ dow't BYS can’t
are BT is (Rt : FF2H P- 292 iR 1T O8E)

has written SES wrote (Gt : last evening RSBy, Pl BESEATAEK)
I am older than my younger brother by two years.

This motor-car is going to the station.

1 go to bed at ten o’clock every night.

T.end me your bicycle, please.

1 found him sleeping on his seat,

HABELTFPE
dishes #% @ churches Zdr @ Dabies 81T € pianosHHS:
children /& @ knives /7] © mice JuEf
voleanoes X|lj ¢ sheep E D teeth B
took taken & stopped stopped € put put € stayed stayed

studied studied @ laid laid & Dbroke broken
ate eaten @ forgot forgotten @ swam swum
rooms ik © when ik & of Bk

do L & happy % @ wore ik

me i @ mony W% © woud B @ who Wik

a OS5 the @ Were {5 Was € but BLLS help
played tk£% has been played & is he B3 lLe is

2% ES You are standing on your own feet. CRZIIANTEED > 1§
S o)

The son very much tifES The son is very much

needs S need Q@ topd: @ latter B5f5 later
of © for $ in @ father ® all
where o zo & has @ our @ can
The dog bit the child. @ A thief has stolen the money.

By whom this story was written?

Our health will be hurt by too much eating.

For the coming examination, my lessons are being reviewed by me.
He should fail in the entrance examination unless he makes his
best.

There is a river in front of my heuse.

A man who cannot see is called a blindman.

In summer, the temperature of the southern Taiwan, i3 ag warm as
that of the Philippine Islands.

A few days ago, a steamer stroke agninst a rock.

As 1 get very tired, I can not work.

As long as there is life, there is hope.



évridiy luks hwait ond bju:tiful.

¥. a. father-land b, freedom
e. the Communist Bloe
She plays piano every day.

276 X B ®AE
© As this matter is so difficult, I fear it -may not bs done well.:
@ If we were not healthy, we would not be able to enjoy true pleasure,
® LEvery Sunday afternoon, she would come and talk with me.
X RIERERRBR
0 TA O YR ® % 0 —Fh @ FAX
O HER O BROTRO N O EFHRBEQ uA
O Hil o #H ® Wi O u ® BB
O Mt @ Ef Q@ T O g O PE
I © (bring) brought brought @ (begin) began begun
& (do) did done @ (pnt) put put
& (make) made made ® (ie) lay lain
© (talk) talked talked &) (come) came come
@ (read) read read @ (go) went gone
X @ and ZS or ® much IS many
@ writing BXES write O a S an
® give ES gave ® whom £S5 who, call 8¢S called
©® have ®ES had & for feet Z¢fZ on foot
@ old XS older @ got up LS5 get up
N @ togo O for @ hiding © fought & look
@® from @ happy @ ready © a moment (@ glad
¥ O 1 am seventeen years old, and live in Taipei,
©® DBecause 1 want to be an expert in marine products industry.
@ Yes, I do. Because we can get more new knowledge through
English.
@ 1 like natural history best.
@ 1 have lived in Taiwan for more than sixteen years.
HEXEHPE
I in winto da wédo iz Lould. in ®s n>:0 it snou. hwen da snou fo:ls

¢, honour d. Free World,

OOP20ODQ

He says, «I will buy a new book.”
He asked me to wait for him,
Hez gave me a book, and I paid him ten dollars.
I wish you will come to-morrow.
a. adjective b, adverb O a
a. verb b. noun 0 o

b. noun
». noun

adjective
ad jective
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a, adverD b. adjective

rose BFF rises (Rf+ G M —ARIMITEL) AT
eat B(ES eaten (FF : BURILASER )

speaks BT spoke (k : PURGGE yesterdny (BIEk> Wit » Brid
FRRBRERD

Waited BES Wait (5 : G HHAESD

done g% have done

I have been told the story.

He (or she) left the first cup empty.

1 was asked a question by him,

The dog bit the child.

A higtory of France was studied by us.

HEMEXTHE

everything @ much © i, in @ of
curious ® bad © whom

harm{ul O at € on O uwsually
and © murmur €) person & who
mistake #fS mistaken @O lot ES lots

thousands BXf3 thousand @ in XS on

likes EXES like @ the birds tif% the bird

a P © go W goes O easy KE easily
going XS gone @ Can B May € Thave ¥Z has
foot BKfF feet @ fool IXES foolish ® see IKE saw
caught, caught & ate, eaten & thought, thought
gave, given § wrote, wiitten @ put, put

My mother went to Taipei in company with my younger sister
yesterday. o Columbus dlscovued America,

Since my father has died, I consider it my d_uf_y to take care of
my younger brotners and sisters.

He said he went to Keelung yesterday, but in fact he did not go
there. -

As she was caught in the shower, so her coat became wet.

The cat caught the rats, &© My brother 18 seen by me.

It can be seen by you. & You were given a bhook by me,
Columbus discovered America,

It is the San Francisco Bay Bridge.

I have studied English for three years.

General Chiang Kai-shek is the Fresident of Chin .

No, I have never seen a tiger.
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& Of course, it is necessary to do so.

Both~and——conjunction John———proper noun
you——pronoun are——verb very adverb
good——adjective students noun
HUERRRBRER
@ 1 am a Chinese. ® Taiwan is a part of China.
& Summer vacation begins at July. @ Today is Monday.
% A teacher teaches us English.
€@ He sits on a chair. & 1 have five fingers on my left hand.
& A boy who studies is a student.
@ My English is not spoken language.
& She sings very well in the class.
0O No. O Yes. & Yo @ Yes. ® No.
® No. o Yes. Q@ Yes, O No. @ No.
@ bugger KE bigger @ visits BES visit
€ goes HES went D of HE at
©® become HES became @ at HE of
@ had B£5 had been @ wrote BYES write
@ are ELS is @ have wanted ES want
@ What @ who @ Dbought, belongs & whose @ over
@® returned, to @ said & told D give @ When
HX Bt E P2
No, I don’t think it is a friend of man.

To be diligent in study (is our duty.)
(L.et me) show you the way to the station,
(He will not) go if it rains.

0

@ Because it carries disease. © It can be seen in any house
@ 1t likes the dirtiest food. ® We should kill them at once
@ speaks gXES speak. O went WL go.

@ have S had @ 1K me

® two-stories BXES two-storeyed. (P writing B(ES written

@ like he B(fS like him. @ taken PKES taking

@ make B made. @ eat KIS eating

0 B O FM O HH O B

® Hh ® HER O hE @ BB

LGOI 3 D =E O FHehice @ Bk

® HEYEh 0 Hi b B 8 —FhHE

® KT ® BFEHA ® RN @ HMTEFEN
o

(2]

®
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(Yon must) not stir from the spot.

(My father is too) old (to) do that work.

(He is no longer) alive,

(You are more) wise (than) him.

(The more) 1 know him, (the more) I like him.

1 should removs the glass case (slowly and carefully)
(What did you) do yesterday ?

(sit) sat sat @ (put) put put
(catch) caught caught € (discover) discovered discovered
(am) was been @ (have) had had
(become) became become & (hear) heard heard
(sleep) glept  slept @ (know) kuew Lknown

A RRBREERIL

(+) o (-) 8 (+) Q () ® ()
(+) o (-) @ (+) @ (=) o (=)

candles @ worms & clock @ aunt

animals @ behind @ tooth-brush © supper
post-office (@ cotton

see (scen) B me (I € not (do not) @ wise (wiser)
us (we) ® 15 (are) @ Who (With whom), with 3k
e or you (you or he)  live (tolive) @ will ijJ2, rain (rains)
has got @ rises € went @ has rained
have studied are o rings & looks

had (D bave been

H T B

NETRHIER AR LR KPR » SRR EEBHENR 2=h o BRI
FREMER B > Tt BEOR(T o B TEGER » e PEERIEE)
s ABUCUREE CUB IR DE o PR MEe TRES » B HREE
BT o fEMBIR I » (LEtiTsp T o
RMWALR S B o ZBRREIEN » Ststek | ER ' BE2ER
ERE—8 » WA » TSk s G 5 B R AT RS AT o B
MR EAR  SEEDEAERRAERIRITE ? » BTHEmSEED
o BRI RIFE TR AT » SRPLRIECEEMS © e
PifEg o

Have you ever seen a tigerq

My father used to go for fishing on Sundays,

The more the better. @ He, as well as 1, is a student.
Tﬁxgh he has some faults, yet he is a greatest man.
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What are you looking for ¢

Thoughts are e_xi):essed by means of words.
I am not so tall as my father.

1t is three years since 1 left home.

My eldest brother is five years older than I.

on

& the & which & in @ after

coming @ to @ did @ are @ or

The Asia B¢f3 Asia

@ Dbest BXES the best

23k 1 was writing a letter when he came in,
was OES were & to Wk

belong B¢E3 belongs

@ comes 4TS come.

2%k Every child loves his mother very much.

or Z¢f5 nor @ Dbusily gkiS busy.
mathematics €@ Thursday @ struggle @ fertile
fellowman @ respect @ hinder & learning
sudden @ society :

Why you come to this schoolQ

October 10th is the Anniversary of China.
There are no girl students in our school.
We could not go because of raining.

Will you go with me for swimming ?

BT FpE

B O HefiEE ® RE O 5
ikt @ fE--HE D PiF © Dhd#-
BT Al @ 858l @ HH ® EE
B @ BEF ® BMZLEmA O 3
Eis - © Bosk O EEG @ i
has planted TtES planted. @ interested B{(f3 interesting

is EXiS are @ work BES works, can K3 may
wrote TES write © hide 8¢f5 hid

Wil & #EHKES an © Aunybody Hf3 Somebody.

are BRES were @ who F:

from @ unless € has @ are ® in

have @ to @ the characters @ on @ since
AR LR PR B s » BRIAITHT AR 22 o B TR
GIRAZEEEL o

BEEF SRR 3 ARDN ST S0 R H5E
gﬁ%ﬁi@iﬁfﬁTT‘/K » {IETASGA TN » BB R R ER
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He says, « 1 will buy a new book.”

1f I were you I would help her,

Everyday sbe plays piano.

1 have already graduated from the junior middle school.
At this news, she left instantly.

Yes, it is difficult to study English.

To-day is the 25th, July. ([EIZ=2a0HH)

We should say, * Don’t mention it 1"

I will make our country a modern one.

1 like English best in tle junior middie school.

HAFTTERRER
TA B # ® B O L e fh

e L I Q@ ¥ © b O T
August @ Wednesday €@ examination @ factory

POOPRIODROD ©

climate (@ telephone D railway & manufacture
aeroplane () oxygen

love @ for @ not O in ® difficalt
grown B in @ ever - @ difficult & scen
lnew, known @© throw, thrown & lie, lay

bring, brought 6 puts put

do k5 does (FI : Pdim-fiL He)

yesterday is L5 yesterday was € your ff3 yours

asleep BELT sleep ( 5k : asleep SLFIF > sleep JLW » AIREIFE o)
understand X5 to understand, words &5 word

I am answering the questions in the examination paper.
Yes, 1 do. @ No, he doesnt.

I was preparing for this examination yesterday.

It took me four hours.

You need not go to school on Sunday.

The city of Taipei is greater than that of Taichung.
Your hair is plenty long enough.

Either will do.

Neither he nor she is wistaken.

AT AR R B

HREET > ATERLZINGE ¢ TIRNER
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RIS T ) YRS A ATE— 2 PR TR » T D3R B A
» FRIEARE I G A rR R R > INTSiE e » Rens AfsE o

@@Q@O@@@@@Q@O@@ e® o
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You are only allowed to write either with fountain-pen or pencil o

the examination paper.

A table is made of wood.

According to the Central Daily News (Ff: th&H#}) to~day, it is
said that there was a great fire in Taipei last night.

He will arrive at Hongkong at 8 o’clock tomorrow morning.

Most people are afraid of death.

have @© and @ much © on ® well
is © now ® most @ in D In
whose IS who @ write IKES written

their B¢E3 his € Who B4 Whom

The bird sing &3 The bird which sing.

wound BXE wounded @ me s 1

are run E{5 have run @ your g3 yours

Does k3 Did
action @ poverty @ motion @ belief g difficully
bravery '@ gold @ combination ) failure ) choice

experience O life & hero & injury
believe @® news-paper @ success
memory @ railway ) invitation
HZ@mEP B
ceiling @ potato & skyscraper @ socks
shirt M bomb © candy © piano
handkerchief (@ bicycle 0 A @ mEes
(RERREWNEMNA © TF ® HEEHBE o0 =i
® ® W o = ® AR
FAREEAE o BAILSEE G o
HIRRY » BFMBER ERiad ot WA —AE SR
TR o

1 have ten fingers.
He is my uncle

We say, «Good-by”

I am looking for my knife
Yes, 1 do sometimes,

As soon as my mother left home, a thief came into my bed room.
My elder brother attended the meeting instead of my father.
Owing to the bad weather, the start of the aeroplane has postponed,
According to the news-papers it is said that he has dizd.

He called on me yesterday and asked for some money.

oD O6
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to drink @ playing basket-ball €) does D at

are (P an ® than @ note-book @ will be @ or
running BXES are running.

do %5 does; his ability 85 his own obility.

are BiES is (Zf: : One of these girls JEHIYH) @ aHFan

1s B13 am (Gt : who 3% L AIRGRIRA A » BRI BY A2 R 5R
BFE) © tofE: @ not BKIF did not € begin B ES begun
done RS did @ Bird ly if% The bird flies

A cock is seen by me, ® 1 was told a story by him.
Two pens are bought me by Mary.

A dog Lills a cat. © The teacher punished him. «
Has he three brothers?q ®© Do they like to play tennis @
He is tired and lies down to rest.

Spring coming, the day becomes long.

Being sick, he is absent.

HAHERERRBK
HE O BHEaRRA © B O BN e &

i o H# Q® ZHE @ Eb O X
thought, thought © swam, swum & gave, given
flew, flown & spoke, spoken

sweet e ! ¢ Who D easily ® Which
A book is read Ly me. © An apple has been eaten by me.

A letter was written by him.

We are told a story by our teacher.

She will write a letter.

an O a @ any 9O on ® abin
of o for @ on @ in @ and
They are springs summer, autumn and winter.

There are seven persons in my family.

Yes, 1 do. ¢© 1t is an ancient nation.

1 think that education i8 a good thing.

HAEPE—PER

UMERPITK O REETRBRIRELIHH
B TR o O BEASLRURE T E

H—EEA R R TR Y o
To obey one’s parents is the duty of a child.
(u% A child’s duty is to obey his parents.)
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The author of this book is not well known.

There are usually white clouds in the sky, in the afternoon of ho
summer days.

A gcod student shonld have a healthy body.

He worries himself about the examination.

ugly O careless @ kind O life & sams
dear @ virtue @ refuse @ present @ expl
are O =t @ speaks @ Do © at
on © because @ shall D for @ who
one another EXfE each other. @ went I3 will go.

think #%£5 thinking € ran % run & was B 1 were
He studies 50 hard that he may pass the examination.

My circumstances are quite different from yours.

Do you either wish for happiness or wealtii?

In front of his house, there is a pond.

As it was Sunday, the bus was full of people.

My mother told me again and again that 1 must not go to swim
by mvself because of danger.

Lately my elder sister has been interested in playing piano.
That question is too difficult for me lo answer,

The oral exftmmatwn was carried on, the students answering one

by one.
1 gave him some cake instead of money.

HAEPLE_RE

ge3E ) 7115:( U] a3 MR (3] ke O =
i ® UEEh @ B & Adyi
B D PR
music @ hero € class-mate ¢ news
spear @® seashore © iron & punish
pleasure @ enemy -
at & on @ as, as O with 6 that
till O but @ with & of ® In

BT » BV PG LRI o
BT R R RGN o THTRR MR 2R HIUE o 50 O TR
BB © RPN A R o

(1
(2

L3

Either you or I am to be blamed.

My elder brother shall be able e to pass the entrance examination
of the Taiwan University.
I like to go to seashore in summer.
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Most children are afraid of thunder,
Whose watch is this?

We are taught by her,

The window was broken by you,

A story will be told by me,

A letter is being written by him,

The man has been laughed at by them,

HuBEpIFHEA

take S saw @ will come @ goes
our @® are @ more beautiful
well @ by @ at

No, I have never been to America,

1 bave studied Chinese for nine years in China.

I am living in Taichung now. ’

I like the city of Taichung best,

1 came to Lngland with my father.

Yes, 1 am very busy to-day.

Yes, I will be here to-morxow.

Yes, 1 can speak English a little.

He is looking at his younger sister,

There are fifty students in the room.

OO DO

Sunday, Monday, Tuesday, Wednesday, Thursday, Friday, Saturday.
January, February, March, April, May J une, July, August,
September, October, November, December. ’

spring, summer, autumn, winter

ten, aleven, twelve, thirteen, fourteen, fiftesn, sixteen, seventeen,
eighteen, nineteen, twenty, twenty-one, twenty-two,

FBDEELE » PIEERMET AR » SRIRIFER » sRIEIFHE o Rt —
TEUCBIEATIE o B BRI AEPHS » THRE—FBRERIAA » F 2k
SFPRBA o

OD BCOCO9O3OPO0IQ

HAEPREHFRBRK

O(x) B(x) B B ((x) O OO B (x)

O O OW @x) B B®WO OO

WO 6O 0W) BW O @W

O met D well € much @ on &) singing
Q to @ kinds & be O severely @ too

® made D the & at @ on @ are



]

X X BB E

POSO0PIODRQCO9DD0003Q COPOIBOOP

20006030

saw, seen © came; come @ carried, carried

caught, caught @ took, taken )
I am a student. @ 1 learn English every day.
A crow is a black bird. ¢ The sun shines.

1 can see this word.

I have ten fingers.

They are spring, summer, autumn, and winter,

We say, “How do you do, Mr. A"

No, 1 can’t. ® A hire does.

HEPHR T EGRE

friend © Dbeauty & weight @ habit
neighbour @ sixty minutes @ forget
practice @ Taiwan (or Formoesa) @ president
ARA O & e ThR O HHHE @ Wiz
Fify O P Q O ERE @ FHA
Don’t %15 Doesn’t go BXIS goes

boy B boys many 5 much

me g3 1 broken BifS is broken
Whom &[5 Who from B{ES of

a BKES an who 5 whom

He studies hard in order that he may pass the entrance examination.
My mother has been to Taipei once before.

He talks as if he knew everything.

To visit him we started at 3 o’clock in the afternoon.

Is he at home ?

1 am sixteen years old. & I was Lorn in Taichung.

I generally go fishing on Sundays.

Robinson Crusoe. Arabian Nights.

1 get up at 6 in the morning and go to bed at 10 in the evening

HEEPEERRER

60600

library @ earthquake @ science @ business
summer vacation. @ Free China @ victory
water-melon () bank @ at once G :‘E

B ® EH ® s ® &H © EB
240 O K& ©® arEp @ =

from 8¢5 in © fail BKES succeed & Who %% Whom
had ¥k (ZF « [ Jast night Sl » FRUIBAARIS)

He or you B(f% You or he (i : FU—{All LiiHEaN » (HHERR
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B FRS AR HZAB B AR EFEF )

is B35 are (FF:you and T BHE)D meXZ] @ are W is
come t4fS comes (@ am k(S were (3l : FURIEHEINE)
Does he go to school every day

May he catch the train 9 & Are there many kinds of soil ¢

Can he awim quickly ? ® Is she writing a letter?

of, by O at,in & on, of € on, in ® at
to © by @) on @ with @ by
with ® from, to, is, an, on.

Which is larger, the sun or the moon ¢

There are four seasons in a year; spring, summer, autumn and winter
1 believe that the earth is round.

My father returned the day before yesterday.

What a fine weather it ist

HAEZRP A

fEEE O R © HlEn © XE @ MK
teacher @ Dbeautiful @ post-office @ July @ class-room

of @ and  is O at ® of
will © than ® but ¢ which @ the
wag tfES is © some EES any & on XS above

a old man B old @ whom 13 who

1 am seventeen years old.

They are spring, summer, autumn and winter.
There are five persons in my family.

1 like English best.

1 have studied English for three years.

His lessons have been learned by him.

He gave me a watch.

This work shall be finished tomorrow by me.
My friend writes a lettor. '

Our exercise books are corrected by our teacher.
He is not only clever, but also diligent.

I am fond of playing basket ball.

The sun is larger than the moon.

The hen takes care of little chikens.

Read this story, please, lt is very interesting.
M ETRIIER o O HER—ZIEHRES o
+ B+ B2 IERBIHER o .
FEF 0 e S 2 e — SR RS o
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HEXELPR
1. © shine BREF shines, (Gf: :FEREBAGHFD
@ he B(E him, I BES me, G : PR saw BE D
@ visit BT has visited Gt : SULBEBI NS BRA ATASE )
@ 2XEE Running across the street, 1 saw a cent.
& Who B Whom (Zf : KHFHEH )
@ have written BXES wrote « 5t : [AFREGERZE: (yesterday) BAEHE)
& the tallest g% taller (GE : IRAZBIFLLEZHILEER) -
@ Degun K5 began (FE : GUASIMTHEAIEERR)
O was BES is GE: T—iRESEE) ZUIBIER)
O to Pk (5 : had better FIHMAEIGIRELA] Mo} )
I. @ heroes & Dbabies @ wives @ students
® valleys @ mice @ deer @ oxen
& women () geese
. @ breakfast @ cheerful © regular @ theatre
®© submarine @ idle @ library & phonograph
© statesman () charcoal
IV A. @ The cup was broken by the servant.
@ He was laughed at by all his friends,
@ They were told a story by Joln,
B. @ The wind broke off the roof of the house.
@ The flood destroyed the crops,
& The enemy seized the ship,
HuEhAFPE
I. @ accept @ Dlusiness @ card D gate & houour
.O@ @O0 00 00 00
E @ O B O® 6 0 8 o ® o
V. ® @ D @ ® ® D O Q@ ©
V.9 00 @ @ 3 OB @ ¢ o O
V- © (3.5 2 1.4.6) @ (4.3.5.6.2 1)
@ (2.53 6.4, 1) @ (2. 4.2.1.6 5 17.)
@ (5.4.2 6 35,7 8 9. 3.)
e @ ® 0O ® O e O 8 &
VI @ Will you come to~morrow?9
@ I am very tired.
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1 will buy anew book.

I have studied English ifor three years,

Will you go with me for swimming ?

Look at your clothes, It is-stained by ink,

We see with our eyes,

What is that dictionary whichihe is seeing ?

He did not come {0 school yesterday because of his illness,

You may come here to play ball, but you should not talk loudly.

BB IRBREBRK

2OBBOBBS

It is May. @ We call him a teacher.

1 am sixteen years old, @ 1 have read ten English books.
I come to gchool at 7 o’clock in the morning.

are @O on § at ‘D las ® did
lives @ is & me @ has &) writing
a %3 an & am KB are € write BZES writes

am fKES are ® playing L5 play

Spring is:the first season-of the year.

I walk to school every day.

Do you love your country?q

Once a dog had a piece of meat.

They are good to eat.

SEREBR > EERFEREREE R o EHE- IR » BREMEIIR »
BrEIARa SRR HATE o [e R HRREIK o

S A A ACES 5

Q Xk o Ml ® By O KIER @ Bt
® R O — © wE O ER D - TR
O TieRIVE > EEUREELL o O EHIEF FRERE A0
®© ERNRS - HiErRis o

Q /DAL IR TR TR A T o

® EREAEBREINERE o RN EE o

4 Who is sheq @ They are just reading Chinese.

€ Sunday is the first day of the week.

@ The saucer is between the knife and the fork,

B A quarter is one forth df an hour.

© read, read ® knew, known € went, gone

@ did, done & made, made ‘@ ate, eaten

o

stood, stood @ sawyseen ) taught,taught () teok, taken



T 20 X PR E
Y @@ united states of america BX[G United States of America,
(3t + FVE#32H covital letter EIAER)
® loves B¢t love & to IXES at
@ in BB with (Gk: (EERMLTAEE with)
® teeth BKES tooth (if : PFREH)
VT @ low @ short ® uly 9 out & there
4B B
I 2% P 292 FIZEEeidsE (1) W5
I © were ® or 8 who @ wil & in
@ since o from @ that @ do ) were
E O buy B3 to buy O = Bk
© 1and you &5 you nnd I (8% Pr 2% iquRaEl. ©RL)
@ eat IfS have eaten ® to i
® her IKES she (§E: k% she F3)
@ many S much (GE: SRENSAFUG much)
Q@ sare S is @ could spoke [%[3 can speak { other JH3:
NFo (+ o6 () ® (-) 9 (+) & (+)
® (=) o (-) @ (+) D (+) D (=)
d» worge @ private € rich @ hard @® cool
@ long @ square & peace @ Dbeautiful ¢ difficalt
M ¢ He is liked by them. & He will teach me.
® [Dnglish is being written by us. €) A Dbird has been canght by Mary.
® Today we see many signs on the road.
HAEBHREREBI
I O ZEPERS—FIUUERMAT EREPERAA
@ S ARURIERR AR » FEIEEA X o
& RIVHSLAERIE » R o ,
I €» happiness @ silence @ idleness € diligence
® freedom @ poverty @ truth @ wisdom
@ height {0 honesiy
@ kept, kept ® did, done @ went, gone  €) had, had
& taught, taught :
N @ the Double Ten Festival @ policeman € animal
€) vparents & grandfather () president © speaking
@ history @ motler @ examination
Y @ our O my @ an. © three ® Dback
Y @ There are twelve months in a year. .



" X BRE 291

@@@é@@@@@@@@@@@@@@~:®®@3®@@@ DOBO

82030

There are six persons i my family.
1 like English better.

Because China is my fatherland.

1 am sixteen years old.

AR P

dentist @ Dbicycle € Soviet Russia {3 enemy
bandit @ thunder @ orange @ train
mosquito © tly @ fan © breakfast
postman ® attend ‘® park @ banana.
pineapple ® bus ( history geography
education @ dictionary @ aeroplane @ bank
vegetable @ #iR © WELE © B D BR
AR DB o EHE ® HMA 2 7R
it Q T O B D A ® EX
= @ R @ M D K @ L
KEE © $HRE O HiBM (GRESArD © B
Bs @ HENW

& x e x 9 O ® O
of @ for €& Have & is & study
speaking @ has @& bites @ wrote (D studied
are " @ leader S It ® take O of
with @ at ® umild ® loyalto @ as
than @ so - @ cakes & enough @ discovered
while @ lay D very @ Have €@ has
in @ of @ in @ of ® at
at @ in €0 have €@ was W ago
where @ nothing (® picked ¢ Put @ wood
who ® wafe @® playing @ seen @ went

HifRIRT) » RS0 o
RS R i SRR AL B ©
WEEARES CRERLERRE)

HEXBEDER

Young man should avoid to do any wrong doings.
Once when 1 fell sick, my mother sent for a doctor,
To krow is one thing, to practise i3 another,

The army crosssd over the river by boat,

As to that matter, 1 have never heard of it.

All the three brothers love ons another.
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As soon as 1 finish my exercise, I will go'with you.
He called on me and asked for money,
To reach to the Moon Woild ds - ‘great difficulty.

Her appearance is much the same with that-of my~younger sister,
1 8% me (3 : I I SREVBIHD
have met B(ES met (Bt + AN ‘yesterday” FiLIZIHA

FEke)

230k Though I came, yet he will go.

is it ! BOES it is 0 (BB BSRERIRC » RASERIZO

some PBES any : any fXfS some (Ef : fREEIAINE» any
PR TEL » some SLHNHEERL 0)

to Pk ’ ;

are BXES is (Gt : Five dollars BESRLAHY » (HASTE3E Lag R —EM
S50 MUIEFEEHEND

can EXf% may GGE: DAGR T AL 68 B8 > “R8) )

grow BKES arowing CPf « BUEMETFZD

23S What he did was right.

are @ faster & 80, as, €@ severely
badly ® by @ first, clear @ present
with @M on
Preparation €@ Speaking & Kuowledge @ Reading
Protection (@ Imagination -@ Thought @ Service”
Lite @ Payment
Success © Enemy € Hate © Husband
Aunt ® Different @ Rare Q@ Foolish
Kind @ Lose

HTERETPE
et O A ' k¥ O S
PRE(RER) O HME P "B ® B2
ik (10 =% )] @ toy @ consideration
empire @ kindness ) ‘temperature ‘{ -cigarette
sadness {® construction. @ enemy @ bank.
am O to @ Have @O are ® is
told © more &) whom @ her @ -he

R T SR R TR o B RN T RELFRREER
B A TS BRI > TSR o FIRS TR
O B CU- S SRR FE L SR SR RSP o TS RINGL T- BN
AR 5 S A

AT — 2 VR ST RPN » SRSria i Eiag o 1o TANHEH
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> JIEER » T IRE) o A YHERY D » A WA > B R » BESE c B2
H B IREERRETE o RESH sy s d R A » TR
WEEE o BB ER2IRATRMTE S o

To~day is the 15th of July.

I have been studying HEnglish for three years.

Yes, 1 do, because I ean read many interesting stories through
English.

Yes, 1 do.

There are saven members in my family.

HEEEERERBEEK
#9 O A © BE O WL © Rf-

Flgy @ B-EBR Q Bl O M-FE O HWEZ
upon a1 @ at © who ® were
opening @ did € many @ coming @@ do
EESETREE (RERLEKETRH o)

AR LS EICEH o

PSRRI RS R

Fer RIS, » H=EEAEEE

T HCEIN RO °

There are many middle schools in Chia-yih.

A man who is rich is not necessarily happy.

She is taller than 1 by 2 inches.

On Sunday, I go to church to attend divine service.
What day of the week is this ¢ ‘

HWAFEBRTEMRBE

loved, loved @ put, put &€ sent; sent
started, started € read, read @ saw, seen
wrote, written @ became, beeome (D taught, taught
studied, studied

with @ without @ of @ from e to
of © =t @ came. @ as D on
1 writting B 1 am writing © Are %35 Do

sees BAES see (E : sRACINENG » BB AFBIIEHL)
in B at (FE FERELIIBIERIRA at)

old BYE} older (3 : PYEARIFRIILH) » me BT I
hand ERES hands; foot BRES feet (i1 REREIED
saw EXES see
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(=]
© ore KIS is (3 ¢ fE either-or--f3C » BYRMVEMEATABE—T0)
© meny IS much (3t : FOREREFUH much)
() among BKES between (3 : THHAZMI & 7#A] between)
@ We say, “Good-bye”. © Yes, | have written it.
@ 1 came here yesterday. 63 1 have ten dollars in my pocket.
® I have learned Iinglish for three years.

BHRERASE ) BREERE :
REFE » (EHTCAIFEEE » [SHIR » SIESE > Mk o WATRINER
» (LSRR A R Bt SSRGS R ey o

ECEREEREDR

0009000000003 0C OO

o200 e

+ ©- ®+ 0+ @ -

- D + Q - o -+ a +

Present Past Past Participle Preseut TPast Past Participle
come (came) come 9 (cut) cut cut '
know knew (known) @O keep (kept) kept

(sit) sat sat ® fall  (fell) {allen
leave  left (left) @ (begin) began begun
(write) wrote written @ (let) let let

The letter has heen finished by you.

He and slie answer this question.
They were told an interesting story
My teacher has taught this Jesson.
whom BY¢fZ who 2
one another Bt each other €

by me.

good IS well
or ExiF nor

his @gS him ® cold X5 colder

who £ ¢ to move DXiF moving

speaks GBS speak . (@ is reading §f15 reads

whom @ of @ had D with &) as

were " ® quite @ what ® who M whcre
HURBERERRER

AR "2 & L O BE ® g

[ 5150 7 e Q EBLE O &N O A

hundred @ clean & capital € science .

water melon ® enemy @ calculation @ butterfly

soldier (® suddenly :
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¥ EBRERILEETR BRI o AR » ATRIELER o BRERREIK - A
BUESRENK » BLERERF HRREMS AR BB AGER o

Y O is @ has & is @ came ® written

® who @ 1ises, sets @ tallest @ to D are

HALRED B

RSN BIEM T AR T o
TS~ )« ARG BT N o

Pl » sirEESIENE PHE o

B2 EHROTFTR GHHE > SRR ARTTRRIE R o

I o S (PR E SR PSR 2 o

Big o Aflm @& B|X o BHE ® Ea
M O FF @ EF D ATHE O =R
EIF @ =2 H kH ® 7% O HER

% O HAE ® A ® B D EER
1 have many good friends.

There are seyen days in a week. They are Sunday, Monday, Tuesday,
Wednesday, Thursday, Friday, and Saturday.

1 am a Chinese, you are a Japanese, and he i3 an American.

1t is not easy to learn English, and even less so to learn Clinese.
(gk It is difficult to learn English, and even more difficult to
learn Chinese;)

For young men, reading is very important.

has D are € yours ¢€d at ® Everyons
that O after @ am @ whose @ other

As soon as you arrive at Hongkong, please write to me.

Whor does this book belong to 7

Men understand each other by means of words.

Children are fond of toys. S
He is cheerful in spite of his failure in the entrance examinatiom
Do you look well ¢

1s your mind filled with good thoughts ?

Iave 1 finished my lesson

Does Le ask our teachers some questions

Did she go Lhome 9

play B¢E5 plays @ wents BT went .
is B55 are (3: [ He and she Sf{ ALTHRE) wor
as well as 45 and, am B3 are ® sweetly B3 sweet *7
have S has (i : One of the boysfLiilH) SRS
to fE  © in DU at (3: [69%5) A laugh at) - v P

0D OO EBEeIOBOS

ﬁ,
9e0BOI0RTOIOOBOeCD
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© me B I (FF : TIEAIEIGE - ) WATRRURG » BUIERT «than™ 1y HANEER
FIEH)
€ me B 1 (Ef : knock at the door [iFERL 1.)
@ We are taught English by our English teacher.
© A letter was written. by him. & 1 take a book.
@ My brother will be seen by me.
® My lessons have been finished by me.
@ Yes, he shonld smile, & We say “L am glad to see: you.”
@ Yes, I have two sisters and three Brothers.
@ We can see red, orange and yellow colors..
® 1 am answering the questions of the entrance examination now.
@ bought, bought © Dbegin, begiin @ told, told:
€@ give, gave @ wrote, written ®: go, gone.
@ (was, were), been @ do, done @ sing, sang
@ taught, taught

EAREXFPB

TR — BB ARSI E AN » BERE LIRS o Rk S
RAEALTT W — AT BRI b o SBAU R N RS © .

EAH TR ABHERRERR o (BRI R » Biseb 33
PUEMERIKR o B L ARME SIRERR b

@O QC0I00IODDOBSR

I have to go to school every day:

Didi you see her yesterday 7

He.is not fond of taking fish. © How brave this soldier is
I will call on a friend of mine: tomorrow.

A thief was canght by the policeman.

A composition will be written by me.

They killed the lion.

Her sister has been sent to post the letter by her.
Mr. Wang teaches the lesson. ’

lady BXE3 ladies @ we BE us. @ him KE he
had come {%f3 came. & met KIS meet. @ went KE go.

more fjjfz & one another B each other

swim B swimming. (@ -are IS is.

are @ How © than @ cauy &) many,
was & has D be @ whe

any © Were € Dioken Q gz & hard
whom & whom @ in D likes @ mudi
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He is always proud of his fath;ar’s position.

Thut soldier is well equipped with arms.

Formosa is a province rich in rice.

Last summer, my father went to the San-and-~Moon Lake in company
with me,

1 am much interested in the study of English.

with @ beneath & to €@ with € without

in S with

to go BKES from going (IBAIATIAR prevent one from:-.-ing, fl
BN : #| The rain prevented me from coming [ FEREEHK )

broke ¢S broke out (f: ks B ) J& break. oul)

in K3 into (3f : FINTHEANEN: » SURHZUH into)

not 8%E3 not to

A : @y “student” WyBEHEE o diligent : JEAE» “student” /A
s o student : F75 » LHPFTE 0 will Be : @A IMFE o
never :EJE ) “will be” WulstigEo  idle : FEAET » “stndent”
WBENRE o

We : 125 kg5l o always : Bl » «go” HuBfEsE o go : B
Ry dfiFEo to school : FJEIf] > “go” WiBRIEE o (to : §UER o
school : & » FHEET “to” BYHBIEE ) in the morning : EI i
17 > “go” WS o (in : §ESd o the : fFZ3 o morning : FF o Fl
] “ia” BRI o)

Each : %57 » “boy” iilsflizgo oy 5 #i> k3o has : Bl
o his : {04557 » “responsibility” {EHHZE o responsibility
: %57 > “has” {9E AR o

English : 57> 3o is s @ »#AFo  important : JPHFT »/
«English” #i8i5E o  to every boy or girl : FF##] » “important”
BEfEE o (to: §iiERdo  every: JBZAA » “boy or girl” WiEE
o boy:fEo girl : BiFo  boy Fa girl ZERFGEEte” B
HH#gRgo or': g “boy” Fu «girl” HdEEiEo "

. A® B.@ A ® B. ®

EEEEE=E y

gerved at,to @ down € should © but § who
whether,or @ anda @ from @ off @ in, between
of BXES from © with B(S at © [ afraidf of 8#f3 Fam
afraid of € to move ¥fS moving



2

® X W OE

i}

BeOE OODOOCODCO00CO 66D

PO0OPO0 Q0 GO0 0BDOEO

kindly and beautifully @kf5 kind and beautiful

can not X3 can § a EXIS the @ more JE, you S yours
Wi fH his Z2EkI3 ber @® Z 4B Has your book been found T
loves © has © uust D set ® lyig
mch @ o0 @ @1 @ ieh
The work was begun yesterday, by them,

He was paid some money by me for his service,

A new house is being built by them,

This uniform has been worn by me for years,

Some new songs will be sung to us by her.

He said to me that I was a great {riend of his.

She says that she is not feeling well to-day,

He asked me whether my brother had come.

Our teacher said that great hopes make great men,

They replied that they might not need my help.

MR bR S » FEME M ERMHETT A AR o FEMb-T- Lkt » FR
AHRR > MEEG—AT o BUEE BIriRRI0E » MEba il
T b EHARNEIGIRI =5 0 '

A boy scont obeys his parents at home.

Have you ever seen an airplane ¢

1 have alresdy graduated from the junior middle school.

My elder sister has two Lnives.

HEERR TS

No & No © Yes @ No ® No

No © Yes & Yes o No { Yes
beautiful = @ can J: €& my MiE 9 had beenffjk
is lain & ® oldest piE @  his %

to sing sk . O who M3 @ good Ik
from & to e or @ interesting ® s
generally & than & whom @ December @ on
yours © Thers © He © She ® It
it ® He © ler o it @ bim
The fly is one of the most dangerous enemy of men.

Will you please give me that pen?

A polite man always takes off Lis hat to a lady.

They are very much alike because they are brothers.

Once upon a time, there was a king who had great wealth and power.
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Yes ‘D Yes S Yes O No D No .

No & Yes @ Yes D Yes @M Yes
great many & a pair of @ instead of
s0 that ® fond of

fights Bk3 fight @ mother B the mother
Rk @ under %f3 by

love IRES loves, loves I&X(3 love. -

at - @ in @ to { across & of

NIEEN O B @ P o LR ®
I o e @ 73 O FuE O B

The Republic of China @ The United States of America -

patriotism @ absolutism P president

mathematics @ Free China ) country

people - @) liberty
HATBRENSR TR AR

= D R & {L&8 O i ® L

SR 0 uE © fiEx O EH D i
Who & what & who € which & whiclr
Hurrah, the Republic of China. -

I love the Republic of China,

The vacation of our school has begun. B
Bir, may 1 go out? @ They went for swimming yesterday.-
in BB on O me i3 1 ® Rk
many @£ much & blow K blowing

It is half past ten. @ Yes, I am a student.

1t is blue. @ 1 have studied linglish for three yeais.
Yes, 1 am very busy today.

EEHBLIRASR
am LS are (42 p]eq!ant]y S pleasant @ are IS is

came IS come @ me BYS @ the hest 3 the better
are IS is & done &ﬁ did @ tomE

ought B(ES ought to Tt
to & where @ to O of & on
whom @ which @ for D 8t ® on °F
I was asked a question by him. © lseeabird, - o
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@® A letter is being written by her.

€© A pencil has been bought by me.

O b FeEERIREEYA o O WE-EHEES

© AREEFERT ) REBEMAdFe O wSEERMYILE

® EXEEFENE TN

@ He is an honest man, @ Are you fond of svnmmmo-?
© 1 have already studied English for three years,

O We will go to Taipei tomorrow.

® When you came, I was just playing tennis.

HEZHEikd B

@ tolds BAfS told ® will go LT went, B} yestexday: IS tomonrow

@ to move XS moving @ vplay R playing ® or K nor

® who {3 whom © My table’s leg BKES the leg of my table.

Q@ ZXHES 1 myself saw the thief entering,

Q@ vwhere & but @ till @ to drink

® are @ the strongest. " 3 between @ girly

© I was sure that he was absent,

@ It was an interesting book, but 1 could not read it,

€. The man noded his head and didn’t say a word.

@ "They fought a good fight.

® Mirs. A told her son not to be afraid.

@ The sky was as dark as it could be.

© 1 opened the window that I might see the moon.

@ You told me to go home as quickly as possible because it was
) getting late, and I thought it would be wise to follow your adviee

instead of delaying any longer. Vi

© He said that it would rain.

@® My friend wrote me, ¢ am gomg to. see you.”

© He told me to go in.

© Te told me, “Failure is the mother of success.”

O EDMREFELEEN » HESRMEARANIEE o

@ ZUTULRITEEE > REERME

® BEPHbEER FPU SR TR~

O YIRS S > FREETEEVE B MR S o
® Have you ever seen that flower 7 How beautiful it is !

® As it is very fine te-day, we went to the. park for taking a walk
© Some friends came to see us lest night.

@ We had waited for him for a long time, and at lagt: hP came.

bl
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i (A)@ responsibility @ difficult @ imnaginetion:
@ victory @ freedom @® airplane @ education
& bus @ Dbrave @ property :
, By #£F O TRHoREE @ WoRHE O Bk
® PHm O &F —E& O By @ THY
{ @ FuE © #H .
I @ of @ and @ younkl €y at ® lhow
® to @ w & faster @ of @ on
I O dorwt IKES doesn’t @ study ECES studied
& to talk BXES talking &) wrote EXFS was written
® 2t HESin @ o createst scholar [XES the greatest scholar
© Chineses tf5 Chinese @ some iffS any
O go IKES goes Q@ ‘tooth ikfS teeth
¥ @ (f{ather----- subject, man:----- complement.
© young---- ad jective, across the river--..- adverbial phrase.
© who makes clothes,.---- modifier of “the man”
€ The-.-.--definate article, of his house:-modifier of the roof
©® To love our enemy:----- infinitive, ‘teaching-.-..- complemerit
@ apples---... subject, are--:-.- predicate, intransitive verb.
mine.«ss-- possesive pronoun.
@ smiling-.--- present participle used as adjective, heart...... object
hardened:.--- participial adjective
@ to ride my bicycle..-.- infinitive.
@® playing---.-- present participle used as adjective.
- @ thinking-.--- present progressive participle.
himeesee- indirect object money::«--- direct object
Y O We shonld love our country.
© How many persons are there in your family 1
@ 1 rise at half past five every morning.
€@ The sun is much larger than the moon.
® Do not do to others that which you do not wish to be done to
yourself.
Y © ! have come from Ping-tung.
@ There are four seasons in a year.
@ 1-speak Chinese.
@ I have been in Taiwan for six years.

Y
v

Eu BT ERRBYK G
@© xcome © Whain (& AR

o

X
g
153
73
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THR ] 2B MU WEAZT lay, laid, laid ZFRIRLGEE “aid)
€ xbroke ® xhave (Zf: neither of them JLEIEY)
@® xwhich (3t : AIARICHEIE T that) @ xhim © xbady
® xgood @ xshall (FF: FoREFEE TRRAGE will)
(a) fES AR A L BT HE B IR HER o 1B DB D de—5
B DAt IR IS R R o RMILGRE > ShR AU BRI
e —{ e EIBHEE R T =AM A RS o "
(b) EEAEARS R B B T i LR A » Ander il
W TERER) > I RUE IR FRRIR » Fn i Bl AL T S1028 5 HER
BRI AR R o
at ® depend € with
of, by, for & not, as @ of, in
whom, had @ am, the @ against

{(x) & (%) & (x) 0 (x) & (x)
(O) @ ©) @ O o ©) ® O
finger gfF fingers © go Kl goes € can B could
sheeps Bi(ES sheep (RE : sheep RIHIMUETL » W HREARED

a BES an @ o B3 an (58 : [A honest FYERFE L ¢ o” EIHTF)
to Bkt till @ among %L} between (i ¢ Wi ARH between)
since tomorrow KLE alter tomorrow @ whom LS who
of & of & by O to ® of
from D to Q@ for ® in @ to

of ® at & in @ from ® hss
studied studied knew Lknown

did done gave given

saw seen lay lain

read read put put

became hecome sent seut

smaller smallest closer closest

happier happiest better best

less least hotter hottest

bigger biggest more uwseful  most useful
worse worst more most

friends  grasses women  bodies mice feet
pianos monarchs handkerchiefs birthdays herselves

@ A dog is seen by them. € A letter was written by me.
& 1 shall be taught by him. €© We have been tanght by him.
@ She was told a story by me.

QOe

o090 e
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t ® ever @ quickly
shut @ buy _ @ lately ¢ husband
heroin @ down

happier happiest @ fatter fattest

more difficult most difficult @ older oldest

more splendid most splendid
ate, eaten @ saw, seen
came, come &  lost, lJost

S
(S

® knew, kuown

teeth © cities & halves €) pianos & boxes

The child was run over by a car.

He and 1 answer the questions.

1 wrote this book.

A fish hag been caught by him.

A new lesson will be learned by us.

1 have lost the watch which I bought yesterday.
That is the man whom 1 met yesterday.

He brings a book which belongs to me.

The book which is on the deek is yours.

A boy who works hard is John.

He is a friend of mine, faithful and just to _me.

His sister invited us to visit hers.

Whom do you see in the school?

I am readizg just now.

_Have you ever scen a lion?

We have studied English for two years.

There were some boys in the garden.

Don't jump after eating.
You are more powerful than he.

Let him come.

He is as tall as you.

Where are you living ?

1 met her on the street yesterday.
He is not so wise as you.

I like him, but he does not like me.

When 1 stood on the platform, every body looked at me. .
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In the examination, every student is afraid of making mistakes.
1 bought an English dictionary yesterday.

M-:this story please. It is very interesting.

In summer, many people go to seashore for bathing.

HERELT R

summer @ - mathematics € state’ ® spring
health @® breakfast @ sugar-cane :
responsibility ¢ satisfaction W family

g ® HH O i O L5 I
HE @ 3R e ip © EF O #8
1 get up at 6 o’clock in the morning.

The name of my school is (HZEHEERES)

I have learned English for-three years.

No, we don’t do so.

give EKES gave: box IKES boxes. ‘

in BXf3 on & tell BLEE told @ have IKES has

X HE We have no water to drink, - D we KB us
not EXES do not @ am BKES are D OCan &E May
some BYES any L

while, while @ to ‘@ Doth, and @ with
nor @® had & at @ tired
am @ Dbetter

May, I come in9Q @ 1 will call.on you tomorrow.

I am a good student.

As we are all Chinese, s0 we speak Chinese.

I am very glad to see you. (@ My mother loves me.

Where are you going? @ Give me a cup of water, please
How many days are there in a .weekZ

How old is your elder brother ¢

HAXRRERBERK

EEER O Hife e #wE O BRE

® ® &:H o EH Q@ R
i ® EH @ July @ gl
forget @ where @ to telephone @ important
travel ® to obey ® regular @) knew
Does @O the ® older © sweetly
written ® am o as @ is
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to (D who :

ring 8¢S rings D are KE is € haring K3 heard
to ® making B3 made @ meet BXEE met
he HKES him @ a S an Q@ use KES useful
quickly :

This dictionary is much better than that one.

The cat runs after the mouse.

I will call on you Letween four and five o’clock.

By and by the teacher came into the class~room. i
Not only I, but all the rest were punished by the teacher. =

AP RRRUK o B BRA N » BRELE o MBEHRSME o —HLEARX
R © PR IR B o U —E RIS IL 2 AR D o WK (RN

- EPRE U o LR E SRR MRk ©

ALfEES A

0 %E ©OW O HEE O #R € H#
@ train @ performer @ empire €) music & revolution
to & in & with € than o at
goes IS go © men BES man, stand BX5 is standing

you are URES are you € do you came i%;3 did you come
study &[S studies

Judoh said that what should they gain if they kill their brother
She said that she was a hen. & Joha says that he hates hiwm.
She said that she loved him a8 much as she did herself.

Mary said that she was there.

BEA—R—K» — BB BRI RR RS o

IR ARB LR B TRE S > (ULKER IR R R
e ALY ©

1t is not difficult to answer this question.

He is not only honest, but also clever.

1 have already studied KEnglish for three years.

1 should devote myself in study.

EEERDB

walks @ came @ s shining@ has visited & tells
left @ was sleeping @ will be (D will forget @ lived
whom @ what ® who @ that & whose

KEverybedy loves a good boy. »
She was laughed at by wost of her friends.
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The letter has been finished by me.

The work will be done by him.

A letter is being written by her.

a BKES an  Glikes S like GE : £ Does TR T “8” IR ERY)
older ¥(ESelder € whom EEBwho @ tells XS told (FF : RRENH)
dead BKES died (G : M@K The man...-.. died F¥)

is BKCES was (GE: FEREER) © to BiE @ breaking thi3 broken
the book’s cover (IS the cover of the book. -
Q) S (x) S (x) O (x) ® O
()] o O @ (0) o (O) @ O
watches @ testh @ thieves () Ileaves & sheep
lady @ dunt @ she-goat ) cow & motherinJav
they @ who @ Dbaetter Q@ totell & was studying
ally ® journey much @  look after 3 shore @

iny ) watch @ sweet 3 in vain @ ocean (8

1t has already been five years since she lived Taipei.
He often meets Mr. Wang.

When she came last night, 1 was just reading English.
I taught him Chinese last year.

Can you wnte a létter in English ¢

) HXBEap R

My elder sister is very fond of music.

My mother gets up ea.rly in the morning.

A great deal of my time ‘has been spent in studying English.
Bhe is not only beautiful, but also very clever.

Among my four brothers, 1 like the youngest one best.

is BB am . ®. he K him

have i%£5 has, brother B brothers

is BXE5 are " § will B shall

wrote BXES written, she BES her ‘@ study iKES studies

am gES were ¢ finish B¢f§ finished, you B35 your
good EXES better '

very @& aos & an 0 with & of
@ I am a Chinese student. :

® 1 have a new hook, and 1 am very fond of it.

@ He asked me, “Will"you ‘come temorrow 7 ”

® Wby do you know he is a foreigner 9

@® I love my country.

FEM £ t&&i—ﬁ@%@nﬂ’l@@ » BEBIMHHRE > FRER R
BRBRAR 0
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0 (o) 24+4=a114224 4 —422=(a242)2— (22)2= (a4 2+ 20 ) (#24+2—21)
= (#2422 +2) (x2—2x+2)

(8) 32402422y +8a 48y —9= (x+ )2+ 8(2 + 1) =9'= (a4 +9) (2 +y—1)

B (@) (P42 @-242)  (3) (w9 r—1)
8 (2) 2 =z . (a x -
2 a _ A% _a)___fzz—xz __a—s2 1
0_13 ax ( a_x_z)M alr—13  a{a?—aZ)  z
P \ @

NG 31/2—045/_‘-_1,/5_z,/ga=s,/z;+sl/£_i,/m

T _21/ 16x5 —61/5 +v/5 —1/5 —8/5 =-21/5
(@) — (@ —2/5
¢ 2 3_29 , 17 29 18 17 _29 90
PR ®+®X3 st7  TTmts-
S 7 119 17 11 s
?_.7”7@ x 35 x 35 x 5 T
] L6 11
HELLICA ® —7——7 —7*“7 V=
x—9 x—21 -9 121 x—~9 x—21
@ I8 GUI =9 T G-®)—(-2) -3 —I2
_9=1*4:L1 44—36=2—21 Z=15 & 2=5
SRR IF R R0 .
&: (a) a=5, y=7 (8) a=5
0 (@) (100+43k)a?—44x+4=0 ZRGHFHZ
M (—22)2—4(100432)=0  484—400—12£=0
84—12k=0 7—k=0  ak=7
) BHV2) + (3-V2)=6 (B+V2) B/ 2)=9-2=7
RS 426547 =0
2 (a) k 7 (8) a2—6x+7=0
® (=) (z+y)2aa(a—v)2me§asrwm Cacdin S D1 S B
(8) WUHSEHMBZALE » W g’ T _128 1028 A8 rss,

Bt 2 BiRiz 4 AR5 x 4 =5

1
-i-x 4=2, 2x4=8,
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1
o (a) 2242 (8) > 2, 8, 32
td

(B3} A4BCH, LACB=LR, CDLAB

CR3) LACD=/B

(B LACD+LBCD=/R, [LBCD+/B=/F
N LACD =B

(B 4BCDZEER (DC7 BC)
A4R=ED, BF=FC

CRHW) £F = (4B+DC)

' < Cogd]) BEEEDF, IERZIP, JABY
A ' BT p ERRHIZE » JI

CF=BF
4CFD=45FP} S ACFD=ABFP ¢ DF=FpP DC=BP
LDCF =/ PBF
KA aDAP
DE=FEA4
DF=FpP }
© (o) (B BadBC, AB=AC,
Pl B RSB SCIAD,
(k¥ BD=DC |
COT) 4RIl R P N\
s LADB= /R
{ESABDE, A ACD
AB=AC } B D 4 ‘

1 1 +
o EF:T AP =T(AB+BP) =‘T(AB+DC)

ADAM: .';AABD
LADB=£ADC= /4R ZadCh
& BD=DC
(E5) 4, B SefhP, CPOREE
&> C&, DF K
CR) CELADE
(B9 —H 4. B AAORP, = 4754
—iE# E
WAP=AD & LAPD=/ADP,
BP=BC & LBPC=//BCP ¥ LAPD=/BPC » LADP=/B0
8 LFDC=ECD +CF/DF ' :
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o (@ . CEll) ESESBESABCD, (eBmRAC,
LIACES—8 » fEIE S ACEF
(R BadBC, /B=/R, AB=BC,
- 1-4?222};:‘5612—4‘1—3?

A — D e
BUIE S HACEF =2IEHSABCD
(HR) HH—R
f‘. : C
@ UR) R A4BCETES 12/3 Jit > e/ EH O

HiA40 > JERED » BCHHAS » {il ADABC

2 3
A0 = 24D, 4D :1—/?»80, A0 =1,

.3 3
57 =

-5

2
"l 4D =%r, BC=-——=

/5
VI HEEETERS VT rxar =125
By 3‘/ . ..]2.'/3 r2=12x—;-=16 S ¥ =4 & 43

HEEILHRBE
~ BJHE )
0*x BO ©0 O x @ xGile® ="vVao @ x :
(RE) (a+é)(s~i) =a2—il=ale(=1)=2241 @ x @ x DO OO
= g
251 3 18251 1 1824

72 24— 2301825 =2 —— o~
0 2 65(54;]3 132529 9590 23

555 304 251 3 5
=2 665" T6s5 = 21ees O3 Gt 15 e x = x =3
O v/ ake i GE) B>, 850 >0 @ (2¢—3)(3x—5)

1

® (—20)(24a7) @2 (R 1+ (1= —=) =12

T OmMLI o ©854 @ MR

(ORL— 44) X 2= 4o - ALPUGABRRORL » HPRRH BRI
(BB 9K) + (OB BE) T A)-mror B

SRE % 7 3 =38FiE- oo e oo PR
' ‘ & : RARTA » Rk

i}
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A

et g e 2
feBR E B % =ABfE S5 H AR

() v/ T80/ 1840/ —8 =1/ 25(=2) —/9(=2)+v/4(~2)
C Zsy/ 23y 242/ 2=4/"2=4/2% ‘E:4/2i
(¥) vz vV2 (/T +/3) V1a/F
V7 -3 uﬁ—/3X/%wﬁ) 7-3
1/14+-./6 = 1/14-{-1/6

{x‘x_),'i,lgg ...... O O+-0® x— y_3 x=y+3 @
atay 4+ )i=63--@ GRAG® (P+3)2+(r+3)y+y2=63
Y24-6y+94 y24-3y4 y2—-63=0 3Yy24+9y--54:=0

Y243y—18=0 (y+6)(y—3)=0 sy=-—6, 3 RA®DH x=-3,6

S A

(B4 WAABC, AP =FB, BD=DC, AE =EC

A (RkB) ~ABCohADEF
. (BHI) MAABC, AF=FB, AE=EC
: 1 1
E s EF=——BC, [ DE=—45,
: 1
8 D ¢

D _—_-—?:—AC, HRadBC, ADEF,

AB : BC : AC=DFE : EF : DF ;s nABCh ADEF
A (E) RALBC, AB=AC

3 AC ERYIEER BC B D

ﬁgrﬁg] SEEAD, Q] £ADC= /R o8 ADB= /R
1 WAADB, ~ADC, AD 1S¥® ~ADB= /4K

I =g R AB=AC ;. AADB=2ADC 2. BD=I
BT F-EP R

I '
-0+ + 0- 9+ - 8- ©- O - 0+
@G+ @- B+ @~ 6+

g . .

O Txul=pl+al—) & ARE © ! - ®

D vy D bt Dy O vVa @ —6 @ a2+ @ (20-4)
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